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Question Number : 1 Question Id : 8135613521 Display Question Number : Yes Is Question
Mandatory : No

Presence of Floridian starch and formation of carpogonium 1s a unique feature of

JOLADS 6y doo 5810 A SR Godito D VS SR VE0

Options:
Porphyra
| @ J60

Chara

Spirogyra
SNl

Laminaria
(50 Telovt

Question Number : 2 Question Id : 8135613522 Display Question Number : Yes Is Question
Mandatory : No
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Who introduced Binomuial Nomenclature for the first time?
BT TWEETD) DEOI D DDFDODA DSE?

Options:
Gaspard Bauhin (1623)

o, T8 S (1623)

Carolus Von Linnaeus (18th cenfury)

5 % SBOD 70 930D (18 3Treo)

Stephen Hales
RS Sy
® ©

Nehemiah Grew
% i oo (i

Question Number : 3 Question Id : 8135613523 Display Question Number : Yes Is Question
Mandatory : No

The study of the development. structure and all other aspects related to microspore or pollen
grains

APg) NG Do o Hor G 0B, o7yt A B Dow (rdy B
Lial(e e

Options:
Palvnology

DT°0D) TR0
1. =

Physiology

_ 386 66, TR0
i e
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Phycology
300 TR0

Mycology

| u 3008 TR0

Question Number : 4 Question Id : 8135613524 Display Question Number : Yes Is Question
Mandatory : No

The Technically complicated feature of all living organisms

2DV VLTS’ BID JoEBLMT VoSN VLT DF) 0eEd?

Options:
Growth
g OOV

Metabolism

Irritability
§ (S

Reproduction

5. % 52

Question Number : 5 Question Id : 8135613525 Display Question Number : Yes Is Question
Mandatory : No
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Study the following table which shows different organisms with their taxonomic categories. Select the correct
option for A, B. C and D?

ol s Genus Family Order Class Phﬂ l?m!
name name ; Division

Man Homo sapiens| Homo Hominidae |Primata | Mammalia A

Housefly s ; Musca Muscidae | Diptera B Arthropoda
domestica

Mango ?;fdaig;fm Mangifera C | sapindales | Dicotyledonae | Angiospermae

Wheat Tnnlcmn Tnticum | Poaceae Poales D Angiospermae
aestivum

ot 3680 D09Boctodt. s 0570 dapen = 8 3866m G5, ot 466" A, B, C. D 0y foBoifod

Yoron rgom T | PO [Skoowe | o 3640 360
o
W | Fady | Far |[FD | pder | iyl A
&4 DR Es | SR Dy |G B ugﬁ‘c
SrE | e modse | drofiee | C Waoddd | B | v de
P |06 sisd (86 | Tavw | Fabdd D )8 Deren
Options:
A —Chordata, B — Insecta, C — Anacardiaceae. D —Monocotyledonae
S A-SEr. B-addy.  C-odsBabd. D-28a¥ dwrew
A - Anmmalia. B - Arachmida. C - Anacardiaceae. D — Monocotyledonae

"2

3.

4.

. A-5J20803r. B -eoes\ o,
%

*

» A — e983505°e.

A — Chordata.
A — 508>,
o

B — Arachnida.
B - wé‘lw.

A — Non-Chordata. B — Insecta.

) va‘as*Qd?ofb.

C — Polygonaceae,

C — FOHIaDR.

B— QS‘:og. = tsa?gdbb.

D — D&Y Daren

D — Monocotyledonae
D - Q86¥ Dazren

C — Anacardiaceae, D — Dicotyledonae
D — &qa¥ Daren
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Question Number : 6 Question Id : 8135613526 Display Question Number : Yes Is Question
Mandatory : No

Free-central placentation is found in

ATy S0 Vol {o WY Q)

Options:
Dianthus
1 GO0 B

Argemone
UQQ&J‘S

Brassica
o
e 5"

Citrus
I

Question Number : 7 Question Id : 8135613527 Display Question Number : Yes Is Question
Mandatory : No

Approximate diameter of pollen grain is

28 DUACEDYY CINE); TR0 AT AT

Options:

50 — 75 micrometer
50 — 75 208 26

75 — 100 micrometer
75 — 100 208" e

2. %
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25 — 50 micrometer
25 — 50 208 Derdd
3. ¢ - e

25 — 35 micrometer
. 25— 35 208 ercd

Question Number : 8 Question Id : 8135613528 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Mechanism

Process

Plants

(a) Viability

(1) Oldest seed

(p) Citrus

(b) Apomixes

(11) Fruits without fertilization

(q) Asteraceae

(c) Parthenocarpy

(111) Many embryos

(r) Lupmnus

(d) Polyembryony (1v) Seeds without fertilization (s) Grapes
808 T BBOGBR?
oirodso 2800 A8) 0
(2) Qwesd $ (i) rd Do (p) SO
(b) eRoair addo | (i) DALCH0 TRt DETo\G® (@) @209
(c) oS Do (i) D80 Horren () PR
(d) wsonekd (iv) Dudstmo Tanr JTw dinwe | () T4

Options:
. » (a—ii—p), (b—iii—q), (c—iv—r), (d—i—s)

> ¢ (a—i=1), (b—iw—q), (c—ii—s), (d—iii—p)

3 % (a—iii—q), (b—ii—p), (c—iv—r), (d—i—s)
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a n (a=W—s8) (P—i—r) (c=ii—p) (d—1—q)

Question Number : 9 Question Id : 8135613529 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of pollen grains?
D003 BEDPVL DooBow) DBALI S°A T°sfo?

Options:
The outer layer 1s exine and inner layer is intine
| D00B TER ey Og D2 S ), &0 TR 00 Dz Sdo Wotrd

Sporopollenin most resistant organic material

< 8 TV TS 938 djodd DABGE Dodad 0eGo

Intine 1s made up of lignin

909236 22 £590 PN DB o
3. v ©

Sporopollenin is absent near germ pores

_ D2 Sogre 56 F\FI'OIS eocicd
4, % @

Question Number : 10 Question Id : 8135613530 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of economic importance?
DOBEDPY €588 F A0S DS PBGDIE 5° J°E(o?

Options:
Pollen tablets are used as supplements
g % DTG GO 556 00T G&HTHTTE
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Pollen products are available as tablets & syrups in the market

DTG GED\BORD 2P BB, DDV G0 OZ(H0D
2. %

Carrot grass do not cause allergy

S685 TR 998 T8 LB
3.V @ 0

Pollen consumption increases the performance of athletes

p DT 6 DI (o DR STZS AV DECHD ¥§ DD
. "

Question Number : 11 Question Id : 8135613531 Display Question Number : Yes Is Question
Mandatory : No

The pulvinate leaf base 1s present in

SO\0 S0t DG Hbo (L AVE),

Options:
Gloriosa superba
B8l DT

1. %

Glycine max

A0S 8y
2.¥ <

Allium cepa

3 % e99ado DD

Solanum tuberosum

A% Terdo ear(ed 2o

Question Number : 12 Question Id : 8135613532 Display Question Number : Yes Is Question

Mandatory : No
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A distinct monocot character shown by the flowers of Liliaceae 1s

DD Yaryew wrded IS GV ere w0

Options:

Hypogynous flowers
esot:‘.g?c;‘:?gé D0

Actinomorphic flowers
- RICI0S ATy

Trimerous flowers

§ o Ber0s0S L)y

Bisexual flowers

, w ©30oS e

Question Number : 13 Question Id : 8135613533 Display Question Number : Yes Is Question
Mandatory : No

Inner mitochondrial membrane 1s differentiated from outer mitochondrial membrane n

presence of

9080 Bqto eP| S(ied Dedso $e0ld?

Options:

Cristae

S
L ==

Porins
) x o

Porins and cholesterol

s o 6 28080 S
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Less protein and more lipid
- 8 Arodsydoen Sodain ks ded

4. % O

Question Number : 14 Question Id : 8135613534 Display Question Number : Yes Is Question
Mandatory : No

The name endomembrane system to the membranous organelles because

S(H0INS SETOTVL Bod B 55378 290 VLIS S0

Options:

Their membranes are attached
T8 SESa000 9SG G0t

Their functions are coordinated
> T7E) DGR 9VOTTTNo WOIEIEIN

They have only interconnected membrane
28 TrOS" w88 RS BB SV A3

Their functions are not coordinated
TP DAV 9RVGTR DOTILIEED)

Question Number : 15 Question Id : 8135613535 Display Question Number : Yes Is Question
Mandatory : No
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The lipid molecules present in plasma membrane have polar

heads and non-polar tails (as shown in figure) which option b Polar Head
represents the correct arrangement of lipids i lipid bilayer? 1 o %p;w
) el &) BOE erne GdTTen, B Non-polar Tail
Ssu $Dosmot. & B KOG w0 DNREEDY

Options:

OO00
L9999

TrYY
.. 0000

POYO
R ehile

OYOY
R (e)'o
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Question Number : 16 Question Id : 8135613536 Display Question Number : Yes Is Question
Mandatory : No

Significance of Mitosis includes the following. except

&S D) ) T°¢365° D DBRD @wa‘:}gé 5° 8

Options:
Growth
e lobiabinl))

Cell repair
SETR G0, B0

Diploid daughter cells
GO DES DYSET

Genetic variation

i 220 93“”5"

Question Number : 17 Question Id : 8135613537 Display Question Number : Yes Is Question
Mandatory : No

Catabolic and anabolic pathways are often coupled in cell. why?
Do) £7e) & S08a30 DYDY A0°Go S3085° SDD G0, Dot JuR?

Options:

Both the paths are of the same energy
ot 3707w 28 #8 S o

1.8

The free energy released form one pathway is used to drive other pathways

L S 2God’ DEDAT 38 Botsd BIGo BENDHLL VI AR
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The intermediate of a catabolic pathway are used in the anabolic pathway

. D) Ao’ DERTD A (S Dirde 07 LSADS” DI A
3. % 2 i = =

Their enzymes are controlled by their same activators and inhibitors

28 BSD &BBSAVY I, VTGSV HV DoZVLN VOOBOTILICID
4. ® e’

Question Number : 18 Question Id : 8135613538 Display Question Number : Yes Is Question
Mandatory : No

Isobilateral leaf shows following difference with dorsiventral leaf. except

Q06 ercsgs Do 036 DTE6 HBeS trdowd B

Options:
Stomata are present on both sides
, 006 DT DY CoTomd S0500cO™

Well differentiated mesophyll

5 o EFT DECd0 BodD DT othGo

Bulliform cells
, w006 seren

Parallel venation
- NeTrodd S :.J"S:Jén

Question Number : 19 Question Id : 8135613539 Display Question Number : Yes Is Question
Mandatory : No

Bicollateral vascular bundles have

&_S:o::.vauo;s SePs° oaren $OACIND) D
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Options:
Xylem & phloem arranged on different radiut
a0, TS SrEree DB T(FFTTUR BB

1. %

Xylem surrounds the phloem tissue
5 % % VS E522rer) T8 TPEOY) G0t

Phloem present on either side of the xylem separated by cambia

o AR DY TNS S8ro Gols De,ra:»5 $£02PL00 DAWOLELICOICI

Xylem present on either side of the phloem separated by cambia

T8 $0rerdL) AT TAY) Gol De,raz;g $£02P000 AWODLIC I
4, %

Question Number : 20 Question Id : 8135613540 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Tissue

Cell type

Function

(a) Parenchyma

() Lignified

(p) Radial conduction

(b) Collenchyma

(1) Isodiametric

(qQ) Support growing parts

(¢c) Sclerenchyma

(1) Xylem

(r) Secretion

(d) Ray Parenchyma

(tv) Pectinised

(s) Mechanical support

$08 T 2BHGB0E

ST

800 880

H/AVV)

(a) e &marvo

(1) OR)S Qroa

(p) g oo

(b) ;wu&‘sa S0ar00

(i1) "rama"'g%)oé‘

(q) HOAGL Wre 2PrOL) Brdo

(c) Gy seereo

(i) oY

(r) Frd8ad

(d) Bar 2y Seero

(iv) .3550113@

(s) Oirods Lo

Options:

, ¢ (a—ii—r), (b—iv—q), (c—i-s), (d—iii—p)

5. u Ca—i—pl, {b=li—z), (e—ili—yq) (d—v—2a)

2 u (8—1iv—r), (b—li—q), (c—1i—s8), (d—i—p)

;. u (a—i—g), (b—=i—3), (c—v—p), (d—ili—r)

Question Number : 21 Question Id : 8135613541 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

Column-I Column-II
(a) Subsidiary cells (1) Endodermis of root
(b) Passage cells (1) Protoxylem
(c) Primary xylem (1) Lateral roots and cambial formation
(d) Heart wood (1v) Highly hignitied and dark coloured xylem
(e) Pericycle (v) Stomatal apparatus
S0 TR BAIGHG]
SN - 1 SN - 11

(a) ©e0E ST (1) S aos) eﬂné:%‘adéa

(b) Hode seren (i) HA2THY)
(¢) rodsmidy | (i) 3“635 56> 26004 P Seaereo DY)
(d) e0dd ot (iv) 68 8D 69 atod, 0606 88" K0R) TARY oty

(e) B (v) Dot 2BEGo

Options:
. u (a—v),(b—ii),(c—iii),(d—iv),(e—i)

, » (a—i),(b—ii),(c—iii),(d—iv),(e—v)
3 x (a—v),(b—iii),(c—iv),(d—ii),(e—i)
4 (a—v),(b—i),(c—ii),(d—iv),(e—iii)

Question Number : 22 Question Id : 8135613542 Display Question Number : Yes Is Question
Mandatory : No
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Hydrophytes are characterized by

58 208) © VL0

Options:
Leaf reduced to spines
DT £630D) SoSTRIIT DBYEIRD

Well-developed vascular tissue
T DJYB WolS TYS® Seervo

Well-developed mechanical tissue
eI TTe we';).;b;@ Wodd Cirrods S0

Increase in aerenchyma

- JeSOiS S0 @Qé&% Wolio

Question Number : 23 Question Id : 8135613543 Display Question Number : Yes Is Question

Mandatory : No
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Options:

Match the following?

Ecosystem services

Examples

(a)  Supporting

(1) Fiber

(b)  Provision

(1) Recreation

(c) Regulating

(111) Crop pollination

(d) Cultural

(1iv) Flood protection

S0 T BHHGBG?
(IRTe ] aﬁa-.g dden S ile T3V
(a) eord Qros (1) 6w

(b) HEL 6o

(i) BLILY

(¢) :Jcmogerejés

(1) DG © DT VeT) 0

(d) RoR)HB Votdod

(1v) HOGL AT6er

, % (a—i),(b—iv),(c—iii),(d—ii)

, ¢ (a—iii),(b—1i),(c—iv),(d—ii)

3 x (a—iv),(b—ii),(c—i),(d—iii)

4 % (a—ii),(b—iii),(c—i),(d—iv)

Question Number : 24 Question Id : 8135613544 Display Question Number : Yes Is Question

Mandatory : No

Transition state structure of the substrate formed during an enzymatic reaction is
DoB adﬁé‘ 0896 ?ga o) 220 O &Y S §8 dov) 2o Ddhcba)a&. ad

Options:

1

®_
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Permanent and stable
T3S0 SodAD .‘Egdo

Transient and unstable

E30DBIGD 208D 9280
2. v B

Transient but stable
., S2VDBIED T Vb0

Permanent but unstable

o
. i T3 do 59 00

Question Number : 25 Question Id : 8135613545 Display Question Number : Yes Is Question
Mandatory : No

The essential chemical components of many coenzymes are

Ee° DIFDoZNVS” 353 G0N BRAVLS VT &otid)?

Options:
Carbohydrates
. bod:::-m‘g“m

:

Proteins

o Tha

Vitamins
% P DL

Nucleic acids
. Soldsraren
4, % ®

[ ]
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Question Number : 26 Question Id : 8135613546 Display Question Number : Yes Is Question
Mandatory : No

Identify A. B. C and D 1n the given figure and choose the correct option accordingly?

FON® 008" A, B. € &880 D 0&) hBotsod. SER0AKBT H0R Joasiy Jdv)§od?

Atmosphenc C0, E odta 00,
Plasma Membrane : &3’&05!50
A |l A
. CllWall | == 8o
/] s o M B
pyivvate -] | DS —]
B Regeussation : B DIVSY
} f I ‘ f
C, aeid G, sad : Gy o G gi?.-b
Plastmo- $add;

,._
e
—

(l
( Transport Transport ( oo oorw
R | i | el |
¢, acid m-tw ; C, 5 ﬂsﬂ;ﬂ
l Co; I . 4 C0,
D bt D [ecuse

Options:
A — Mesophyll cell. B - Fixation. C - Bundle sheath cell. D — Decarboxylation

A= DEod0 s B-0d, - Qoax) Scorb S0, D- CST 8T
1,

A —Mesophyll cell. B —Decarboxylation, C — Bundle sheath cell. D — Fixation

. A-Dgodd Smo. B-aST$\00S. - Qo) §o gm0, D- T3

A - Chloroplast. B - Decarboxylation, C —Bundle sheath cell. D - Fixation

| A-T0simy. B- CETYTRD. € - o) Scord Smo. D- FOR
3.

collegedunia
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A — Chloroplast. B —Fixation. C — Bundle sheath cell. D — Fixation

w A-r0sBm. B-Fbo, € -poat) Scb gmo. D-FDI

Question Number : 27 Question Id : 8135613547 Display Question Number : Yes Is Question
Mandatory : No

In the given flow chart, the pathway of water movement is shown from soil to xylem. Identify A -E
and choose the correct option accordingly?

70\ T 8 20,08 Mod) AL 266 N8 A28 HEFD) ErHR. A 200 E 0 Aogod)

SEVMEROMT 1T oS ot ofs?
Plasma membrane
Al

s —
[}

E &8 W)

Options:
A - Stomatal pore. B —Endodermis, C - Casparian strip, D — Symplast. E — Apoplast

A - 38 Godo. B-eod8\6lo. C-50y8a0S 08.D-ornd. E-ed>d
1 i % @ Lol =)

A —Plasmodesmata, B —Palisade.  C —Medullary rays. D — Symplast. E — Apoplast

< A - 8 33 wotre, B - Qozismarvo, € - 63 dwen.  D-NodR. E-oJFD

A - Plasmodesmata, B - Endodermus, C - Casparian strip, D — Apoplast. E — Symplast

, o A~ S0 Gdjwemren, B-eodiyfjo. C -500% 08, D - 0T FD. E-DoFD

4, %

] 1 E
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A —Stomatal pore. B-Guardcell. C-Medullary, D - Apoplast. E — Symplast
A - D¢ Gogo. B-dgssmo. (- Bww. D-eJFD. E-dodrd

Question Number : 28 Question Id : 8135613548 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The energy released by oxidation in respiration 1s not utilized directly.

Reason (R): The energy released is used to synthesize ATP.

Dydo (A): TREANS" 581808 S0P DEETD 3§ DB[EoT DICATADED.
5*6te0 (R): DEGTN 38 ATP 203008 DAATHDE.

Options:
Both A and R are correct

e A 08030 R e Bodr DB

Both A and R are not correct
. A 0Bain R e 8ot DT 5°Y

A is correct but R 1s wrong

. % A P36 5° R 2857

A is wrong but R is correct
4 % A D857 57 R 2B

Question Number : 29 Question Id : 8135613549 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column I Column II
(a) Cohesion (1) Resist pulling force
(b) Adhesion (1) Water is pulled
(c) Tensile strength (1) Ability to rise in trachea
(d) Capillanity (1v) Aftraction between water molecules
(v) Attraction of water molecules to surfaces

S08 T 2ADGI0G?
Q0N - 1 Q00 - 11

(2) WoRowdo (i) sgm werd) J8)d &mgéu

(b) @RoRMo (ii) A erHcIRd

() e weo (i) & Arvsod’ G0t 3“&)850

(d) &3 wwo (iv) 8 9w 06§10 S e

(V) Gy 0800 D8 v 206§ 663) e5861a

Options:

¢ o La—=i)Ch=v),(e—i)(d—iit)
, x (a—1i),(b—ii),(c—iii),(d—iv)
3 » (a—iii),(b—iv),(c—ii),(d—1i)

4 % (a—ii),(b—ii),(c—i),(d—v)

Question Number : 30 Question Id : 8135613550 Display Question Number : Yes Is Question
Mandatory : No
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[dentify the following process and choose the correct option?

808 D30 ABotiod ABAK TR NodSR dotkyEod?

- -

Outer side nf cell
g0 ) géio

Membrane
osf.‘)o
Options:

Facilitated diffusion

i OIS DG

Osmosis
> ¥ [ FoprataTlolr)

Deplasmolysis
. Seagdy ooE'tso

Simple diffusion

4 % RO¥ D6

Transport protein
sarer S

= Transported molecule
Gt Woldn) ¢E)

@&
Outer side of cell Inner side of cell
ge0 Dewdd piddo &e30 600 pBto
| ]
Membrane

aGdo

Question Number : 31 Question Id : 8135613551 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Plasmids are used as vectors in Genetic Engineering

Reason (R): Plasmids can be readily manipulated

D Bo (A): F)EOR 230 Q02B0A” T GDCBITAI W
s°6es0 (R): ?bé&vm RDOZIOMT DI°CONRD. BIEYRD TBOHDEN

Options:
A 1s correct but R 1s wrong

- A 2D0HS 57 R ¥

A 1s wrong but R is correct

, x A 2057 57 R DB/S

Both A and R are correct and R is the correct explanation for A

3 A 0800 R 0 Godsr DTDD 08030 R 0938 A S DB DH0¢e3

Both A and R are correct and R 1s not correct explanation for A
4 % A 508030 R e Bodor 0D 5°A R 0938 A S DTS DD 5°C

Question Number : 32 Question Id : 8135613552 Display Question Number
Mandatory : No

: Yes Is Question
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Match the following?

Column I

Column II

(a) Robert Koch

(1) Transformation

(b) Lederberg and Tatum

(1) Binary fission

(¢) Fredenick Gniffith

(1) Germ theory of disease

(d) Lederberg and Zinder

(iv) Conjugation

(v) Transduction

S08 TR SDGBG?
383 - 1 38 - 11
(a) Twb &S (i) 2RB36%0

(b) 96 b SBato EPeID)

(i) & &D‘)@

(c) DS A

(ii1) “eoriééb 208 TG0 bg’oéu

(d) D66 06 28ato 20k

(iv) %oaturfo

(V) amsa::wau

Options:

% (a—ii),(b—v),(c—iii),(d—i)

, o (a—iii),(b—iv),(c—i),(d—v)

3 % (a—i),(b—ii),(c—iv),(d—iii)

4 % (a—iv),(b—iii),(c—ii),(d—v)

Question Number : 33 Question Id : 8135613553 Display Question Number : Yes Is Question

Mandatory : No

Which of the following disorder is seen in human female only?

& 206 TOS° DB ATVD Q & EJDBA?

[ ]
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Options:
Down’s syndrome
Al 53 300553

1.%

Haemophilia
, % Tarodolr

Tumer’s syndrome

3 o @6‘3‘53 fac:@a)

Klinefelter’s syndrome

5533053 ?Joéﬁ)
4.% < %

Question Number : 34 Question Id : 8135613554 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect pairs?

VOADD 2¢h 5°A AR BoIoC.?

Options:
Expression of both characters- co dominance

2 Lo 3DoLBaDE — DI mirgez’eésa

1.8

F, resemble either of the parents — incomplete dominance

. F1 %086 208), 2IDVS’ 28 TAS T'D Gotot) — VPG LarEBIS o
2.9

Generation of non-parental gene combinations — recombination

3 % 2ASHCOL 00 a3, am?s.:))v SOONSA) — R)AAER0AIT" 20

4,
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Change in single base pair of DNA — frameshift mutation

DNA &° 28 28 332 FU°0 280G A6 — DA &3BIGDe

Question Number : 35 Question Id : 8135613555 Display Question Number : Yes Is Question
Mandatory : No

Number of adenylate residues added at 3’ end of hnRNA

hnRNA cang), 3" §3¢° 0C. 256 edddran ) S6y0cdR0?

Options:

1 « 200 —300
> % 300 —400
3 % 400 — 500
4. % 100 — 200

Question Number : 36 Question Id : 8135613556 Display Question Number : Yes Is Question
Mandatory : No

What are those structures that appear as beads — on - string in the chromosome when viewed

under electron microscope?

QgD ) 68,96° 83etddiYh EArY S’ oo e’ Qroww 8o 98 8ol
Nty 27
Options:

Nucleosomes

P ArEaird' D

Nucleotides
2. * Wﬁé@"‘g&b
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Genes

_ a@s&‘aw

Base pairs
4 % =0 28

Question Number : 37 Question Id : 8135613557 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Biotechnology

Characters

(a) Insulin

(1) Forensic Science

(b) Gene therapy

(i) Replacement of non-functional gene

(c) PCR (111) Antigen Antibody interaction
(d) ELISA (1v) Plasmuds of E Coli
(v) Detect Mutation
S0 TR BADG0G
2 F0838 TR0 OIGTW
(a) 2R\DS (1) 36 08T

(b) a&a&ﬂé@h

() Dip,08r308R0% RV Art®

(c) PCR (ili) DOOLS 2380 — HA BESKV OB WG| BT-Cor™
(d) ELISA (iv) EEQ awe), FH)&
(v) &d\BI6Ren SR o0
Options:

1 % (a—ii),(b—iii),(c—iv),(d—i)

> # (a—1i),(b—iii),(c—v),(d—iv)
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3 (a—iv),(b—ii),(c—v),(d—iii)
4 % (a—v),(b—iv),(c—iii),(d—v)
Question Number : 38 Question Id : 8135613558 Display Question Number : Yes Is Question

Mandatory : No

Following are the steps included in genetically modifies organism except

2DV 2PV GS\BS” B3S” TS

Options:
Identification of DNA with desirable genes
T oSODRD A DBotsco

1.%

Non transfer of the DNA into its progeny
_, DNA 2 oD 807(8 86065°8 09 Baned Ser0

Introduction of identified DNA into host
| (080D DNA & 0330068 Hd80e0e

Maintenance of introduced DNA 1in the host
) x ©OB0S'E HITOH DNA 2 dEIPotscio

Question Number : 39 Question Id : 8135613559 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Statm have been commercialized as blood cholesterol lowering agent

Reason (R): Statin inhibit the enzyme which synthesis cholesterol

Ad\do (4): gve&sm 850" § ) Sflodd S6Eom Tredeaf Dol S8 ST
60 (R): T8 ETI S Do RotoBoddd g tdie Teod Aessorr 5 Satody
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Options:
A i1s correct but R is wrong
1 % ARVGIG 570 R 1057

A is wrong but R is correct

5 % A D857 57 R 2B

Both A and R are correct and R 1s the correct explanation for A

Y, A 08030 R e Bods® DB 0803 R 938 A S 2BD D6

Both A and R are correct and R 1s not correct explanation for A

4 % A 08030 R a0 Bods® DTAD 5° R 0938 A S DB DHGe 57

Question Number : 40 Question Id : 8135613560 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement with reference to Bacillus Thuringiensis?
PRV GOB0RADIYIN VoZobow DT TS0 58

Options:
It acts as biocontrol agent against butterfly caterpillars
28 HErEEdenge Fof® MR JoDodod £I586E 50

Dried spores mixed with water and sprayed onto plants
Dol Arg) Deowdn DS 9D 20 BYIWIND

The larvae which feeds on leaves with toxin gets killed

L DTOD &D) TTTTRD & R}riéé)asvvm Do IV BV Tow
3. % =

The scientists have introduced toxin genes into caterpillars
TR Hoi9 YD 5°8 DNRPOS BRA[RDV PIFDET D
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Section Id :

Section Number :
Mandatory or Optional :

Number of Questions :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Zoology

81356179
2
Mandatory
40

40

Yes

Question Number : 41 Question Id : 8135613561 Display Question Number : Yes Is Question

Mandatory : No

The Binomial Nomenclature was popularised by

BT TSR FEE[H BID TRDY

Options:

1. %

;.

- B 4

4. %

Lamarck
er:bréb

Jenner

e’e‘mlé

Linnaeus
95;01)53

Whittaker

Dese6

el
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Question Number : 42 Question Id : 8135613562 Display Question Number : Yes Is Question

Mandatory : No

The variation of life at various levels of biological organization is termed as biodiversity.

Which of the following 1s mismatched pair?

) a)s.j'geﬁ‘ ORE .g"omvé‘ €00t 25D &) LIPVG[o D) otr. & Sold Jo¢3¢5°
057 2 mgoﬂﬁod?

Options:
Alpha diversity — counting the number of taxa

o o DIG[o — RI°DCE ;55;5?36‘ 5 T8) oo BT

Gamma diversity — overall diversity for different ecosystems
T PAG[o — DS BTO6R HHVG'A Aogo DR T T oo T

2, %

Genetic diversity — diversity at Genus level

s cn 20§ PGS0 — BID FowS” DAG[o TS otdcio T (T

Beta diversity — diversity between two adjacent ecosystems

4 % D Do — S D E:36e9 ;35;5‘:8003“ &) &3V D) T T8 otdtio T(T°

Question Number : 43 Question Id : 8135613563 Display Question Number : Yes Is Question

Mandatory : No

Which one of the following books were contributed by Linnaeus?

& S0 75" aiﬁla‘b:) o) (fotdo

Options:
Historia Plantarum
33"?6&‘11‘ é‘c&J"Gn

Systema Naturae

a8 .
3 agar IRTASTe
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Historia Naturalis
\ bg"’&oﬁr STDTOD

3. %

Genus Naturae

4 x B B

Question Number : 44 Question Id : 8135613564 Display Question Number : Yes Is Question
Mandatory : No

Muscles of the heart are

Py B30% SolTren

Options:

Straited and voluntary
Lo S80I AooBS

1. %

Striated. branched and involuntary

g Or00), FAPAS SOBA ACoB

Non-straited and voluntary
x MDA 0Bk Qoo

Straited. unbranched and involuntary

4 % OO0, F°P0° SO0 9N

Question Number : 45 Question Id : 8135613565 Display Question Number : Yes Is Question
Mandatory : No

Which of the following animals are true Coelomates with bilateral symmetry?

S08 T°83¢5° A D2 306 LHIGe £OA &5&535 2:@:;0 DB 0t 2He?

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Options:
Annelids
| 0

Platyhelminthes
é‘ﬁb"a&n@i}

Aschelminthes

» esfab.rbéac‘;::.o

Adult echinoderms

5 B T ABSEG) e

Question Number : 46 Question Id : 8135613566 Display Question Number : Yes Is Question
Mandatory : No
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Match the following and choose correct combinations?

Types of bones Method of formation Example
a) Cartilage bones 1) ossification in the soft tissue p) bones of cranium
b) Sesamoid bones i1) ossification within the cartilage | q) Os cordis
¢) Investing bones 11) ossification mn tendons r) patella
d) Visceral bones iv) osstfication in the embryonic s) vertebrae
mesenchyme

& S08 0 AN 23V dods BoLe6?

DS 657 D0y@ 269 el

a) macwg ) dsnErOSw @%})abrﬁo p) SVt dangen
ANVIEUY Sl

b) DHAToNE 1) Soydoeriye” e?ga;aaa Q) 80 5B
ANVIEDY Wottlo S

¢) SET\TRID iff) ) 0d oS WNTSVe | 1) DOV
g A 3

Wotio 0
d) ©odtrof Iv) ot 6| Aresnarvo s) 83z
ARWESY @S0 Botlo SY

Options:
1« (a—i—p),(b—ii—q),(c—iii—r),(d—iv—s)

, ® (a—iii—s),(b—i-r),(c—iv—p),(d—ii—q)
3 ¢ {a—ii—r)(b—ii—8)(c—iw—q)(d—i—p)

1 @ GE=R=8 (==l e —pINd—i=¢)

Question Number : 47 Question Id : 8135613567 Display Question Number : Yes Is Question
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Which of the following statement 1s wrong related to Cephalopoda / Siphonopoda?

RS'TE T PFAT T Potodot) & b O VL VOIIE TW?

Options:
Shell 1s external in Sepia
| T 8660 — dbasr

Shell 1s external & multi chambered in Nautilus
_ &8 fcven S9AD erir| S6 0o — TTOVD

Internal shell in Loligo

@036 $6y6o — 0O
3. %

Shell is absent in Octopus
€660 O & — DD

Question Number : 48 Question Id : 8135613568 Display Question Number : Yes Is Question
Mandatory : No
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Match List I with List IT and select the correct option from the codes given below?

List I

List II

1)  Nephridia

a) Coelenterata

1)  Comb plates

b) Platyhelminthes

i) Choanocytes

¢) Annelida

iv)  Flame cells

d) Porifera

v)  Cmdoblasts

e) Ctenophora

2068 IR’ HB[EToTVR PO Totkd IR’ TOS wSDOLeC?

D1 O II
i) S a) TobiBer
i) $05"5°0 PVS LN b) & :rbéa@fa
ii1) S*0b Seen ¢) e™de
iv) PQEe e d) Jéoo
V) GodseTen e) &S

Options:

« u (i—c),(ii—e),(iii—a),(iv—-b)&(v—-d)

, o (i—c),(ii—e),(iii—d),(iv—b) &(v—a)

; x (i—c),(ii—a),(iii—e),(iv-b)&(v—-d)

i & Vi=elln—a)ii—d] Cv—h)&{v—eg)

Question Number : 49 Question Id : 8135613569 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following statements regarding coelenterates are correct?
1) Cnidoblasts present mostly on the tentacles and the body
11) Digestion 1s both extra and intracellular
111) Polypoid forms are free swimming
1v) Some exhibits metagenesis

v) Development includes a free-swimming ciliated larva the planula

DTGNS DotoBod) $od D DELDRL DBADLHY?
i) GoBSETeD I I VY6 FPe SBok Biro D& Eotron
1) sa‘aé"g. Shelps é,géo:b 20003008
iif) DD DSy & ED
iv) §Q) 8070 S oSS0 DG F"0
V) 20 BBSS” DT &8 305 00D FAer CoBSo Gotod

Options:
Except (iii ). all are correct

g DSOD (il ) BDy. 0y DBILHD

Except (iii ) & (v) all are correct
Dseden (iii) & (v) 8Dy, 0y DBID

Except (i) & (iii ). all are correct
Dseden (1) & (il ) Dy, 0y HOIDHD

Except (ii ) & (v ). all are correct

4 x 2500 (ii) & (v) 8Dy, ) DB

Question Number : 50 Question Id : 8135613570 Display Question Number : Yes Is Question
Mandatory : No

Scientific name of Parrot

ot A I ?éo:b T
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Options:

Heirococcyx
2ro0Bs8S

Eudynamys

 aS0EAWD
2. %

Passer

F06

Psittacula

o Voo L% 5 g
4.« ©

Question Number : 51 Question Id : 8135613571 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The development of amphibians takes place in aquatic habitat although they are first
vertebrates to come out of water on the land

Reason (R): Amphibians lay anamniotic eggs without a shell. which cannot survive i terrestrial habitat

T (4): Bondaid BB a0 B0 200008 D o8 fod DeuddS Sy Sup D
mzeg;mcaeﬁ ATV IV
5600 (R): o Do0R S0y 62, &0\GPd e 2388, 0 &> TErdbod’ EdodiY

Options:

Both A and R are correct and R 1s the correct explanation of A

1 o A 00030 R e Bodir D0 900300. R 0938 A S 2009000 05068

Both A and R are correct and R is not the correct explanation of A

;) % A 0030 R a0 8ol 20 ©90000). R 0938 A S 2009008 9066 S°¢D
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A is correct but R 1s wrong
. A VBB 57 R DB

A is wrong but R is correct
A D857 57 R DTS

Question Number : 52 Question Id : 8135613572 Display Question Number : Yes Is Question

Mandatory : No

‘Dicondylic skull’ is characteristic features of

‘€508 PO’ D B WS, VLo’

Options:

Reptilia and Aves
ROy Tren 8k HELLW

Amphibia and Reptilia
- &B0DTTTA B0k DB Ten

Aves and Mammals
 HEoen 8ok £6Tren

Amphibia and Mammalia

4 SBODUT"L 20BAD 26T

Question Number : 53 Question Id : 8135613573 Display Question Number : Yes Is Question

Mandatory : No

-
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Match the following related to flagella?

Organism

Number of flagella

1) Trchonympha

a) 2 (one long. one short)

1) Trypanasoma

b) 8

111) Trichomonas

¢) Many

iv) Euglena

d) 1 (arise from rear end)

v) Giardia lambia

e) 4

ETPOR NotdoBow) So8 TR 2BDGHE?

2 STLO Dod)
1) gsaa& a) 2 (wsd Te, w8 T )
i) SOOTAr b) 8
i1i) g&“ ACTRD c) e
iv) o d) 1 (D8 zrtio Aoot) B\G )
V) @oirdoir rod)odr e) 4

Options:
, % (i—d),(ii—e),(ili—c), (iv-a)&(v—>b)

5 ¢ (i—c),(ii—d),(iii—e) (iv—a)&(v—Db)
3 ¢ (i—a),(ii—b),(iii—c) (iv—-d)&(v—e)

4 % (i—e),(ii—d),(ili—c) (iv—a)&(v—>b)

Question Number : 54 Question Id : 8135613574 Display Question Number : Yes Is Question

Mandatory : No

Which among the following is ‘Photosynthetic Protozoa’?

S0 T°¢e5° S6£a2[RAI(SOD 2E) &5 2 ae?
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Options:
Euglena

| COrHF

Paramecium

, % o Aohe

Plasmodium

&Sﬁéécﬁm

3.8 =

Trypanosoma

SOOIV A

4.% =

Question Number : 55 Question Id : 8135613575 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Larva of Wuchereria exhibits nocturnal periodicity

Reason (R): Feeding habits of its intermediate host coincides with the behavior of microfilaria

TGN (A): &50008r U] ATTV BI6D 960,00k
s6to (R): 6$3805r Src(os wddan o) voT HEPTBaLr DIGIS
RVETVBR WP

Options:

Both A and R are correct and R is the correct explanation of A

1 A 200030 R e Godar D0 900004). R 938 A S 2009000 05066

Both A and R are correct and R 1s not the correct explanation of A

ol A 500030 R 20 Godr 20 9003:). R 0998 A S 2009008 09068 S°¢

A 1s correct but R 1s wrong

3 % A 0B 5°A R DO
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A 1s wrong but R 1s correct
i " A 2857 57 R 203

Question Number : 56 Question Id : 8135613576 Display Question Number : Yes Is Question
Mandatory : No

Match the following regarding the life cycle of plasmodium vivax. The correct combinations

are
Stage Cycle Product
1) Sporozoite Pre erythrocytic cycle Cryotozoites
1) Cryptozoite | Exoerythrocytic cycle | Metacryptozoits
i) Merozoite | Erythrocytic cycle  Merozoites
1v) Gametocyte | Gametogony Gametes

?ﬁédomo D5 208 O VotroBot) Sobd TV tdIot.. WG SLANSH MBotded.?

5% ~ Swabo D98 DoyEo
i) \Berant | 6% S0 PO o | &' ar ot
i) §arants sgsneriote 2 d)wank
iii) QoBzraes 68 S0 t5go Dbzt
V) Rdodirddusmrey  Dusd'd\d QoA areD

Options:

(i) & (ii) only
1 = (1) & (ii) S°gd

(ii) & (iii) only
5 % (i) & (iii) Srad

(i), (ii) & (iii) only
5 % (1), (ii) & (iii) 2rgd

4 (1), (ii), (iii) & (iv)
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Question Number : 57 Question Id : 8135613577 Display Question Number : Yes Is Question

Mandatory : No

Larva of ascaris perform extra intestinal migration through the following organs m the body of

mar

Post caval vein

10) Stomach

1) Heart 6) Pulmonary arteries 11) Small ntestine
2) Luver 7) Trachea 12) Alveoli

3) Lungs §) Larynx 13) Bronchi

4) Hepatic portal vein 9) Oesophagous 14) Glottis

)

15) Pharynx

0337 89 0 ArDI)N) 30608 & S08 DTV [FT° LRSIV DGO VA’
b ) N e WO

1) ol 6) DN a0 11) O3y b

2) sgado 7) TOWTVo 12) arosnfewen

3) GaBddw §) aegn 13) TS

4) sgabh Jorrs 0 9) esfdaTers 14) S06doo

5) o) Qi N 10) @rsabo 15) (e
Options:

1

% gy ah ey G- ¥ % 3 IS PR 5 10-411

2_¢4—}2+5—11—>6—>3—>12—}13—>7—*8—>14—}15—}9—110—311

3 % 4-52-55-1-6-3-13-7-12-8-14-15-9-10~-11

4, %

4512933253260 512913-97-28-214-15->9->U- 11

Question Number : 58 Question Id : 8135613578 Display Question Number : Yes Is Question
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Mandatory : No

How many Terga are visible in male cockroach?
S0 e5°G0S Do A VYN DVUSTAL LODLLL SJDI0N?

Options:

1.¢ 9

Question Number : 59 Question Id : 8135613579 Display Question Number : Yes Is Question
Mandatory : No

True coelom of cockroach occurs

aS‘gns Hotd D $06L0o D) 6 SVED?

Options:

Around gonads

D28 T LT
1. ¢ =

Around heart
RS LN ATo s SR ARTA
2_ e €D

In thorax

3 &0o (D£0)

Below heart

4 % Ty@odo Sods
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Question Number : 60 Question Id : 8135613580 Display Question Number : Yes Is Question
Mandatory : No

The rate of conversion of light energy into chemical energy of organic molecules in an
ecosystem 1s

£330 S5RE" 60T AEHES" E8) HEFG E313 B0 Didrotrts?

Options:
Gross primary productivity

AL RS ST\ GBS
1.¢/ @ & J

Net primary productivity
. E6 TGS &T\GBES

Secondary productivity
. OBaL eTr\@sS
3. % J

Gross secondary productivity

A &Séoﬁs ST\ GSSS
4, % @

Question Number : 61 Question Id : 8135613581 Display Question Number : Yes Is Question
Mandatory : No

Nature and properties of soil depends upon

B0y88 CB0E), VDo SBOIN G507 L DB BEEDER?

Options:
Weathering and climate

3OO 2Bak ISRV
1. i

Soil erosion never depends

,  DUES D6 BETrEDEE
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Never effected by climate

%S:ﬁ;?ga DePSDo S0t
3. %

Never affected by weathering

4% o) 3@05:&» 2T°D0 EGoticd

Question Number : 62 Question Id : 8135613582 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following is not a functional unit of an ecosystem?
S0 T763¢5° DB L T°H6e DO i), SAIrY) S DI SAG?

Options:
Stratification

| RBsoe

Decomposition

VYD

Energy flow
33 DT

Productivity

| Goe\GES

Question Number : 63 Question Id : 8135613583 Display Question Number : Yes Is Question

Mandatory : No
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Match the following related to sound pollution?

List I List II
1) The Human ear is sensitive to a) >120dB
i1) Threshold limit of hearing b) 120dB
1) Noise pollution ¢) 0dB
1v) Threshold lumt for sensation of pain d) 0-120dB

3 ?w&]@é PotioBow), S0 TR BBNGBE?

01 011
1) PN B (erotdriv) %go a) 120 dB Sot3 05)6&')
i) 590 D082 pom T ) 12048
111) %’%}) S"UJQSO ¢) 0dB
V) Do 5333:) $dRod 7{}:]5}53 06 :J“QJ d) 0-120dB

Options:
1. (i=d), (i—¢), Gii=a)&(iv—>b)

, x (i—c¢), (ii—a), (iii—b)&(iv—d)
3 x (i=b), (ii—c),(iii—d) &(iv—a)
4 % (i—d), (ii—b), (iii—a)&(iv—-c)

Question Number : 64 Question Id : 8135613584 Display Question Number : Yes Is Question

Mandatory : No
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Identify the possible link ‘A’ in the following food chain:

Plant —» Insect —» Frog —» ‘A +—» Eagle

806 eFER) Henkw 303D ‘A’ &0 JTBoBEARE:

A0S, —p g B SOy —m AT —» [

Options:

Parrot
wens

T

Rabbit
5 % SoBe

Wolf

3 x OG0

Cobra
v S

Question Number : 65 Question Id : 8135613585 Display Question Number : Yes Is Question
Mandatory : No
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Select the correct sequence regarding the levels of ecological organization?

a. Community b. Organism

c. Tissue d. Ecosystem

e. Organ f. Landscape

g. Cell h. Population

1. Biosphere J.  Organ - System
k. Biome

A 508 S{DE6RS" DS FoweRd BT HER E2006” BGY0l?

Options:

a. V2o b. 2

c. Serevo d. 2756 SN
e. 0o . Zrdods,d
g. St h. asw

1. 250%o . 0SB0 SIS
k. &5 Sodeo

 xg-coe-joboash-ofodokoi

5 % go>c—oe—->j->b-oh-oa->fod-k-i

3

4, %

g—}c—}b—)]—}e—)h—pa—}f—}d—}k—)l

Question Number : 66 Question Id : 8135613586 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

List I List II
1) Bowman's capsular hydrostatic pressure a) 60mmHg
1) Net filtration pressure b) 18 mmHg
1) Glomerular hydrostatic pressure ¢) 32mmHg
1v) Glomerular Colloidal osmotic pressure d) OmmHg
e) 10mmHg
So8 TR 2SVGSC.?
by b3 11
) TDD A 20 IS Hedo 8 60Ny
i) D6 36T oo b) 18mmHg
i) fidred 20pds dddo & iy
iv) Handred §grande v 88 dédo d) 0mmHg
e) 10mmHg

Options:
1 % (i—b),(ii—e),(ili—c)&(iv—a)

5 % (i—e), (ii—b),(iii—a)&(iv—rc)
3.&.(i—b),(ii—e),(iii—a)&(iv—c)
4 % (i—b),(ii—d),(ili—a)&(iv—rc)

Question Number : 67 Question Id : 8135613587 Display Question Number : Yes Is Question
Mandatory : No
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Internal structure of heart is shown 1n the
figure with lables] to 6. Identity them

correctly?

Ft5ako 90B8)T) 30 1 otd 6
00508 Zrrred MBoDD Do
RI(C0R. TE DO (DBotoc.”

Options:

1 - Left Atrium, 2 - Tricuspid Valve, 3 - Left Ventricle, 4 - Right Atrium, 5 - Bicuspid Valve, 6 - Right Ventricle
1~ 000€0¢ 2~ 858 €to,3- Dy a60¢, 4 - o €08, 5 - A8 €7, 6 - & s

1.

1 - Right Atrrum 2 - Tricuspid Valve, 3 - Right Ventricle 4 - Left Atrrum, 5 - Bicuspid Valve, 6 - Left Ventricle
s 184806, 2- 300 80,3 - & s, 4 - 26 898 5- B9 7k, 6- D6 e

1 - Left Atrium, 2 - Bicuspid Valve, 3 - Right Ventricle, 4 - Right Atrium, 5 - Tricuspid Valve, 6 - Left Ventricle
3 % 1 - 6 525.2-55:3@ STk, 3 - S0dk 2608, 4 - S SES. 5 - 30g SaTblo. 6 - e 2608

1 - Left Atrum, 2 - Bicuspid Valve, 3 - Left Ventricle, 4 - Right Atrium, 5 - Tricuspid Valve, 6 - Right Ventricle
- 1- Q6 525. 2- 55‘.’3@ §abo. 3 - ek 2608, 4 - Sc sgs. 5 - 808 800, 6 - 806 2608

Question Number : 68 Question Id : 8135613588 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to blood vessels?

Character Arteries Veins
1) Location a) Thickener p) Valvular
1) Lumen b) Non valvular q) Thimnner
i11) Valves ¢) Deep seated r) Wide
1v) Tunica media d) Narrow s) Superticial

BST VL) NotoBot) Sob TR RSDGL0C.?

VLo (ARVIVIV B
1) g‘éo a) oo p) Tws
i) S3>rdo b) s&) Gerdho Q) DU
i) SaIeeren ¢) #0800 &5 I) QFVo
iv) Sods{ Souhdso d) Q68 s) 306 &Hddwo

Options:
; u U=g—a), (i~d—=n), (ii—g—q). (W=b—p)

5 % (i—-d-r), (ii—a—q), (ili—c—s), (iv—b—p)

5 o AI=e=u); Gi—d=r), Ei-b—p) (iv=ua-q)

4 % (i—d—r), (ii—a—q), (iii—b—p), (iv—c—s)

Question Number : 69 Question Id : 8135613589 Display Question Number : Yes Is Question
Mandatory : No

Human body temperature 1s maintained by

B3 pIS” B &X' DoeGodd

Options:
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Cerebral cortex

i B mg‘&% Sv) o

Hypothalamus

5 ST BRI

Medulla oblongata

2P D0
3. % @

Pituitary gland

4 % 20RTNGO

Question Number : 70 Question Id : 8135613590 Display Question Number : Yes Is Question
Mandatory : No

Transverse section of spinal cord 1s

shown in the figure with labels 1 to 5.

Identify them correctly?

D) F40 ©ES 1 -5 eoswod
TR (HB0R Hho RIWEod. T 4
28I 3otdod?

Options:
1 - Dorsal Horn. 2 - Postertor Median Sulcus. 3 - Central Canal. 4 - Anterior Median fissure. 5 - Ventral Horn

, 12yl 2- 0708 2 ré. 3 - B 0. 4 - {PO08K) S0 Do, 5 - 650 ot
I

1 - Posterior Median Sulcus. 2 - Dorsal Horn. 3 - Central Canal. 4 - Ventral Horn. 5 - Anterior Median fissure

o L7000 2§, 2- 0 k. 3- Sog o, - 660 oo, 5 - {T0a o Do

gcollegeduniaa
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1 - Dorsal Homn. 2 - Antertor Median Sulcus 3 - Central Canal. 4 - Ventral Horn. 5 - Posterior Median fissure

1Oy totle, 2- Q0o o e, 3. Sogh ;. 4 - 660 et 5 - Do e Aeko
3,

1 - Ventral Horn. 2 - Postertor Median Sulcus. 3 - Central Canal. 4 - Dorsal Horn. 5 - Anterior Median fissure

n 1 - 6636 Byorfo, 2 - 0708 06 6., 3 - Sof} S0 4 - % Byoffo. 5 - QPo0diy) 06 Do

Question Number : 71 Question Id : 8135613591 Display Question Number : Yes Is Question
Mandatory : No

The endocrine gland responsible for regresses with age of an individual 1s

0SS’ T[S &[B Sirods 0dF (fod

Options:
Pituitary gland
D03 od

1.%

Thyroid gland

5 % BO0DE (3od

Thymus gland

L o DD (o

Pineal gland
. 9aDS Fod

Question Number : 72 Question Id : 8135613592 Display Question Number : Yes Is Question
Mandatory : No
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Match the following and choose the correct combination?

ListI List II

1) Cell mediated immunity a) Skin

i1) Help ‘B’ cells to produce antibodies b) Inflammation

i) CD Markers ¢) Killer T cells
1v) First line of defence d) Glycoproteins
v) Second line of defence e) Helper ‘T’ Cells

So8 T 2ADGW), WO VATT N0 Jods Wadoed?

1 0211
) S8 A6 O5 Ao a) 6o
i) ‘B’ Dodatios 26200

b) GR(VVW
DBV &3S BFow

u) CD ;ﬁrdbéw ¢) wrodds ‘T Strew
V) DG 656 B d) 08 Ty
V) &Séo:b 64 B e) 6 T seren

Options:
1« (i—c),(ii—e),(iii—d),(iv—a),(v—Db)

>, ® (i—e¢),(ii—d),(ili—e),(iv—a),(v—b)
3 % (i—c),(ii—e),(iii—a),(iv—-d),(v—Db)

4 % (i—c),(ii—d),(iii—a),(iv—e),(v—Db)

Question Number : 73 Question Id : 8135613593 Display Question Number : Yes Is Question
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Diagrammatic sectional view of ovary 1s
shown in the figure with labels 1 to 5.
Identify them correctly?

3 D0 ©080) T 0 TP Do 1

200d) 5 ¢Pmrod adedod. TE Lo

tBotsoc.?

Options:

1 - Primary follicle. 2 - Graafian follicle, 3 - Tertiary follicle. 4 - Ovum. 5 - Corpus luteum
| 1 oDs 06, 2- ot 8. 3 - 8800 ¢, 4 - eotie, 5 - 65 eryabe

1 - Primary follicle. 2 - Tertiary follicle, 3 - Graafian follicle, 4 - Corpus luteum. 5 - Ovum

. 5 1- 3o PBE, 2 - S Ys, 3 - oAb PBS, 4 - 6y erjidato, 5 - Boco

1 - Primary follicle. 2 - Tertiary follicle, 3 - Graafian follicle. 4 - Ovum, 5 - Corpus luteum
L 1~ T e, 2- 8,50h s, 3-havd . 4- Boco, 5 - 6y eriiaie

1 - Primary follicle, 2 - Graafian follicle. 3 - Tertiary follicle, 4 - Corpus luteum, 5 - Ovum

j s 17 TORE QE. 2 - oS e, 3 - Bydab e, 4 - 6D ergtito. § - vedo

Question Number : 74 Question Id : 8135613594 Display Question Number : Yes Is Question
Mandatory : No
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Match the extra-embryonic layers i column I with appropriate function in Column II

Column I Column II
1) Amnion a) Protection
11) Chorion b) Fluid environment
1) Allantos ¢) Nourishment
iv) Yolk Sac d) Excretion

Dol EPP(BIEre) T8 ARV BBHBA VB VArETDo (Botiod.

Q00 1 SN 11
1) GONo a) 0se6
1) DTCIVY) b) 2erd6e0
iil) €900 c) Ve
Iv) o) d) gD

Options:
. » (i—a),(ii—b),(iii—d),(iv—c)

> % (i—d),(ii—c),(iii—b),(iv—a)
3 u (i—e)(ii—a), (lli—d)(iv—h)
4_\\}(i—b),(ii—a),(iii—d),(iv—c)

Question Number : 75 Question Id : 8135613595 Display Question Number : Yes Is Question
Mandatory : No
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Study the following and choose wrong statements related to human reproductive system
1) Corona penetrating enzyme 1s secreted by acrosome at the time of fertilization.
i) Fertilization occurs in infundibulum of fallopian tubule.
1) The genetic part of sperm 1 1ts neck region.
1v) A pair of uter1 are present in pelvic region.

v) Ovartes are the secondary female sex organs.

QTP R)e) gmsa)eg ;55;5‘ch) R020B00N S08 TN KA MBS DELIVA dos Boled..

) DAEEN 2SS’ IEV' D STTIAGHA JoBa) K HAWA.
i) S’ 0D THo'D Sronss’ DVRAEEH 26MHBE.

iii) Bogseo awE) advgaro ¢ Totot’ Gotod.

Iv) $e3p0 Jrodeds’ ws 2 (10" 3037 Esokra.

v) N DafTen 6D ) Brdan Pohs edaTw.

Options:
Except (i). all are wrong

| o (1) 8Dy, DA 1) DsLDL VBSY.

Except (i) and (ii ). all are wrong

5. (i) 08030 (i) @Dy, DAHDD ) DS VBT Y.

Except (iii ) and (v ). all are wrong

L s (1) 208050 (v) 80y, DADS 09 DELVD WBSY.

All are wrong
4 % ©) DSLJLD DIE"Y.

Question Number : 76 Question Id : 8135613596 Display Question Number : Yes Is Question

Mandatory : No

Mendel formulated the law of purity of gametes on the basis of

20EeS B3 9D ArBoPL TG0
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Options:
Back cross
| x O D DosGeIo

Test cross
5> % DO Dosdo

Monohybrid cross
3 DS VoS NDosdeo

Dihybrid cross
. OF Vosdes Vosteo
4, %

Question Number : 77 Question Id : 8135613597 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): A Geneticist crossed 2 plants and got 50% tall and 50% dwarf progenies
Reason (R): This cross follows mendelian law as one of the parent plants might be

heterozygous

Qdyado (A): 28 20 TR Totd 08V DeSEo 28T T8 VeTDed’ 50%
A08) ) TEYTRD, 50% 2008) e THAr &)

56030 (R): 90 00 DADS ©080IET Ardos BB SBAD) 2HEBGS" 286
qumomaéa AE), SN

Options:

Both A and R are false
| » A 00030 R &0 Bt DOS"Y

A 1s true but R 1s false
, % A DBAHAS 57 R 25D
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Both A and R are true and R 1s the correct explanation of A
5 A 208050 R 20 Gotior 2801 08030 R 9008 A A8 DBEHA DH0E

Both A and R are not explained properly
4w A SOV R &0 DOAD QDGR S°Y

Question Number : 78 Question Id : 8135613598 Display Question Number : Yes Is Question
Mandatory : No

Match the following and find the correct combination?

308 T 2BHGD, 0 DATTHoR) o8 Bafed?

Parents Blood type in children Genotype of children
LAY DYV 68360 DYV 260
a) (IAIB) & (1°1°) 1) A&O p) (1) (1°19)
b) (I*19) & (I°19) 1) AAB&B q (IA1°) (119
¢) (IAIB) & (I*1B) m) A&B ) (PP (141%) (517 (I°1°)
d) (I*1°) & (IB1°) 1v) ABAB&O ) (PR
Options:

, x (a—i—p), (b—ii—q), (c—iii—r), (d—iv—s)
5. o KE—=W—=a) 11— Le—a—x) td—8—q)
, » (a—iii—q), (b—i—p), (c—ii—s), (d—iv—r)

4 % (a—iii—p), (b—i—q), (c—ii—r), (d—iv—s)

Question Number : 79 Question Id : 8135613599 Display Question Number : Yes Is Question
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Mandatory : No

Assertion (A): X - ray images show areas of different densities and composition in different
diagnosable forms

Reason (R): A beam of X - ray 1s produced by an X - ray generator and is projected on the
body parts.

6% (A): X - $6e3 D0 AW Fodde oo, RoLT) ABotirie/JTdes
BV Erdre” Brad-ow.
6o (R): X - 866 687\ aogro r(D° &3 B% X - 866 5708 o2zl Birods'D

TPV DRBOIBI .

Options:

Both A and R are correct and R 1s the correct explanation of A
. A 208030 R 20 Sodir 20 09000). R 0938 A S 209008 50669

1.%

Both A and R are correct and R 1s not the correct explanation of A

e A 200030 R 20 Godr 20 90002). R 0998 A S 20090008 D68 S°C0

A 1s correct but R is wrong

3 % A DBHB 57 R DO

A 1s wrong but R 1s correct

4 % A D857 5°A R 20HS

Question Number : 80 Question Id : 8135613600 Display Question Number : Yes Is Question
Mandatory : No
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Match the following. The correct combination 1s

List I List II List I

a) X -ray 1) Electrical activity of brain P) D}ﬂ;ﬂ osimg nenrological skecp
disorders

b) CAT D Wi q) Proton density images of body
parts

¢) EEG i11) Beam of X - ray r) 2D images

d) MRI . iﬂxlarge dpnut = s s) 3-D cross sectional picture

ray machine

308 B BGH6D, T DATTTH0R Jos BaPod?

01 D11 0 111
) 206 DS B) 7 otiod G esppeid
) X - 46m0 ek o 0t
Q) B o JES Fodd
b) CAT i) AT DY VA6t
wEw
¢) EEG i1) X - 366 Sod Yoo 1) 288oto (v 2D Wdo
V) 28 6 &S essegots’
d) MRI " $) 3D ES Do
&) X - 460 oo G
Options:

1% (a—iv—r), (b—iii—s), (c—i—p), (d—ii—q)

2_W,’(a—iii—r)j, (b—iv—s), (c—i—p), (d—ii—q)

, x (a—ii—r);, (b—ili—s), (c—i—q), (d—iv—p)

4 % (a—iii—r), (b—ii—s), (c—i—p), (d—iv—q)
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Physics

SectionId: 81356180
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 8135613601 Display Question Number : Yes Is Question
Mandatory : No

Identify the incorrect statement from the following:
& S0& T7JS” DB 5 TE(A?

Options:

Energy. mass and force are conserved.

23S, B0, VAL D A T
| % 30w

Yukawa gave the theory of nuclear forces.
- S0l wUrw bg"@":ﬁ adws T 3OaHBI

Strong nuclear forces have the shortest range of order of 1071° m.

. 20w 3o6s wered 1071° m DBIT0 (o oy T2 WO
C e

Both gravitational and electromagnetic forces obey inverse square law.
- MAE($6e Lo B0 AN 08 LT Botr J&'S) 6 JobArd) JFBIrow

Question Number : 82 Question Id : 8135613602 Display Question Number : Yes Is Question
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Mandatory : No



If the length and time period of an oscillating pendulum have errors of 1 % and 3 %

respectively. then the error in measurement of acceleration due to gravity is

EoTw BRR) 8 S'usin ang) T wbak EuTadd soaud’ e sdm
1% 08080 3 % eowd. S S[om fdoritiod” Sl

Options:
1. % 4%
2.8 2%

3‘ﬁ 6{%}

Question Number : 83 Question Id : 8135613603 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): An object can possess acceleration even at a time when 1t has a uniform speed.

Reason (R): It 1s possible when the direction of motion keeps changing.

T (A): S0 02038 $BA 6:) 908 0B PADANES’ 31 B(ET) $BA Eoked.
560 (R): S50 g, (09 B8 Srhsos) @ B8 (28008,

Options:

Both A and R are true and R is a correct explanation for A
1 A 00030 R Soct® R0 220032. R, A £ 2829008 D566

Both A and R are true but R 1s not a correct explanation for A

5 % A 2008030 R G0 28 20050. R, A 2 2809000 DH68 S°C0

A 1s true. R 1s false

3 % A D0 20008, R D0 20008 5°¢0
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A i1s false. R 1s true
4 % A D0 20008 524, R 20 90008

Question Number : 84 Question Id : 8135613604 Display Question Number : Yes Is Question
Mandatory : No

When a bomb 1s released from an aeroplane. the path described by it as observed by the pilot 1s
DR Aol 28 EPotdR) BPENEANYIW, DO 28300 o ALVE) Ardaw Jie?

Options:
straight line

RVETO° PG00
1. 0

Projectile
. DEDSAD

depends on speed of aeroplane
L DAFDIN DA BTFEDEE

none

4 % 98 5@

Question Number : 85 Question Id : 8135613605 Display Question Number : Yes Is Question

Mandatory : No

A body initially lying at a point (3, 7) starts moving with a constant acceleration of 41 . Its

position after 3 seconds is

28 S0 (3, 7) Dot Sl e lTARY 41 E"’ ej_gdea:mes‘ SRR 6. 3 V80
ST ° gvxm

Options:

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



+ o,

Question Number : 86 Question Id : 8135613606 Display Question Number : Yes Is Question
Mandatory : No

A stream of water flowing horizontally with a speed of 15 m.s™* gushes out of a tube of cross-

sectional area 1072 m?, and hits a vertical wall nearby. The force exerted on the wall by the

mpact of water, assuming 1t does not rebound, 1s

1072 m? 206516 DTow 0 28 TR Lo MHTA0 15m.s™ Sdwd
§92 HAroBEAVIT S0 GAGE R JYHER) ¢ Eotnd) 8. MR, BDArdsw
39 (i 56 208 Tk Goerold) Féé HOPfotd L

Options:
1« 225X 10°N

, % 250X 10° N
3 % 3.0X10°N
4 % 3.5X 10° N

Question Number : 87 Question Id : 8135613607 Display Question Number : Yes Is Question
Mandatory : No
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Particle A 1s released from a point P on a smooth inclined plane.
which makes an angle @ with the horizontal. Simultaneously from

P another particle B 1s projected in the same direction, with an

mitial velocity u. at an angle f with the horizontal. If both 4 and B

meet again on the mclined plane. a and B are related as

—

A ©3 $ndn 208508 @ S BRM) w8 W) TSV P 0 Dodkdy) Ao,

PODCD WENG. BB V008" B ©d 0TS S0 08 Dok P o u 0% §Yred
B Etaod® &0 BDLERA. A B0k B S0 HBA Ty SLRDM) oS @

ook f o DE[ie Moot
Options:
g =
a = —
1. % 4
+B=—
a =
2 % 6
T
a¥pg=—
3.¢
T
a+pf =—
4, %

Question Number : 88 Question Id : 8135613608 Display Question Number : Yes Is Question
Mandatory : No

A metal ball falls from a height of 32 m onto a steel plate. If the coefficient of restitution 1s

0.5. the height to which the ball will rise after second bounce s

—— e

w8 3P wod 32m 8 Aol e HOEY HEIB. QTGO (beaso 0.5 wand, Bod
FB DS T8 BTG 98 dodd IRL Toh?

Options:

1. % 4m
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3 % 8m

4 % l6m

Question Number : 89 Question Id : 8135613609 Display Question Number : Yes Is Question
Mandatory : No

The physical quantity in translational motion. which 1s analogous to moment of mertia in
rotational motion 1s

080 BORKVS’ D THETY B BOBNS" RES] FRANIL DTH?

Options:

Velocity
1 % 08

Force
AT Pubb

Energy
S

Mass

gésm%
4.9

Question Number : 90 Question Id : 8135613610 Display Question Number : Yes Is Question
Mandatory : No
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A horizontal beam 1s pivoted at 0 as shown in the figure. Whatshould — _, ;1 4 | ;

be the value of mass ‘m’ to maintain the beam in horizontal position?

DRSNS WD £82 PAFdE V) 0 56 LEreRT L) 6.
N0 BRI (£82 DArodBAVIT) EotdrAS BSAGD @ o3

2ky
‘m’ R S 0?

Options:
1. % 2kg

3. v 4kg

Question Number : 91 Question Id : 8135613611 Display Question Number : Yes Is Question

Mandatory : No

A solid flywheel of mass 20 kg and radms 120 mm revolves at 600 rpm. Find the total force that
must applied by the brake so that the flywheel stop mn 3 seconds. given the coefficient of friction

between the wheels and brake lining 15 0.1.

20 kg ¢T3, 120 mm 68w SOAS 28 208 AdwS w80 600 rpm ded
AEMEDD) B. & AOFVE LW 3 V60 SVRY’ Q3RS N0 EE ) dod AR
S5°8 ©800B0Ir? (5820 2080k B8 Poh © 6s] 2ea brSw 0.1 m Sooct)

Options:
1. ¢ 80m N

, % 24m N

3 % 70m N
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4 % 60 N

Question Number : 92 Question Id : 8135613612 Display Question Number : Yes Is Question

Mandatory : No

Two springs having force constants k; and k, are stretched till their elastic energies are equal.

If the forces required for stretching them were F; and F, respectively. then find F; : F,.

0ot Yorbe uvgwos"w ky 208050 ky. St g, gaaw AR TE
FAGTR. Fhdw werew Fy, F, e wond F ¢ F, =

Options:

1_$¢k1:k2

3 % katky

Question Number : 93 Question Id : 8135613613 Display Question Number : Yes Is Question
Mandatory : No

The displacement of two particles of same mass executing simple harmonic motions are
" H ] F . & .
x; = 165sin (10t + 5) and x, = 25 cos(wt) respectively. The value of ‘w” for which the

energies of both the particles remain the same is

28 GI(0"3 §DAR Toch Seren WOV 03] & BOTR BVt T8 gﬁgﬁ*w % =

16 sin (10t +2) a0Baty 1, = 25 cos(ut). Bocd> S0 o8 # 6o T8 v’ D

Options:

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



1 % 16.4 unit
> % 10.2 unit
3 » 29.5unit

4 6.4 unit

Question Number : 94 Question Id : 8135613614 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 100 kg 1s lifted from earth’s surface to a height h = 5R. The change in
gravitational potential energy of the body s . (Given the radis of earth R =
6400 km. Also. on earth. g = 10 ms™?)

100 kg $370°3 o) 28 SO FP &HBSVND Aot h = 5 JGUIL BRI IHWEIB.
oS & HR0L) AWS), WS 252 #86°D 5060y dod? (& (P go= 6400 km SoBakw
g=10ms™? e SwE0od)

Options:
, % 213x10° Jkg™
5 » 533 %x10° Ikg™

3 833310 Tkg™

4 % 6.63%10° Tkg™

Question Number : 95 Question Id : 8135613615 Display Question Number : Yes Is Question
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A geo-stationary satellite is orbiting the earth at a height 7R from the earths surface. If the
satellite 1s pulled in to a closer orbit which 1s at a height R from the earths surface. its time
period becomes (R 1s radius of earth)

&r 600303 7R A’ 28 mgao SO A0 HBZDY 08, oNS Fr &HOSVAN
Aol R 08" 6) HBAE SDHPAD g, 856D SUAD Jod? (@8)¢ R 0 &
a;g&%&:om ArLA0)

Options:

1 3 hrs

2 % 3‘\/5 hT'S

3 % 6vV2 hrs

6
— TS

4% V2

Question Number : 96 Question Id : 8135613616 Display Question Number : Yes Is Question
Mandatory : No

The bulk modulus for an incompressible liquid 1s

€R0:¢] DIV LBOVSD (LS

Options:

Infinity
| ©DoBBN

Between 0 and 1
5 % D:.nﬁcﬁnlvhaés

Zero

ao"bsmo
3. %
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Unity
4 % 2S0SAD

Question Number : 97 Question Id : 8135613617 Display Question Number : Yes Is Question
Mandatory : No

An aero plane is in a level flight. at a constant speed and each of 1ts wings has an area of
25 m?. If the speed of air on the upper and lower surfaces of the wing are 270 kmph and

234 kmph respectively. then find the mass of the plane. (density of air = 1 kg.m ™)

25m* prrogw $9% 58 v $BAARO) w8 i ?gcs.:sdeﬁ‘ AOORD) B. 38
&80, S0 &HddTrY :Jg ) Srren G 270 kmph 20803 234 kmph eond, &
DTS g, B3 (D Fogd = 1kg.m™*)

Options:
« 1000 kg

1
, % 2500 kg

5 % 4500 kg

, v 3500 kg

Question Number : 98 Question Id : 8135613618 Display Question Number : Yes Is Question

Mandatory : No
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A metal ball immersed i alcohol weighs W; at 0 °C and W, at 50 °C. The coefficient of critical
expansion of the metal 1s less than that of the alcohol. Assuming that the density of the metal 1s
large. compared to that of alcohol, it can be shown that

08 672 wod ) TFen 6" A0 68) Py 0°C 3¢ &rew I So8aty 50 °C 2o
W,. & an Qo008re JJ‘;SEG ¢ RS0 B) Fen Sotd B8 . 'ird0 Fodd By HFen
Sof) TU° IS . VYW

Options:
L x Wi > W,
7 R W, =W,

Eywl«;wz

Question Number : 99 Question Id : 8135613619 Display Question Number : Yes Is Question
Mandatory : No

The study of physical phenomenon at low temperatures (below liquid mitrogen temperature) 1s
called

00 8 S &0 (B3 J'ad s Bridd) 8 TS BV BaY)
9060

Options:
Refrigeration

M LLELEEN

Radiation
5 % SO6ESWD

3.+
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Cryogenics
503?3353

Pyrometry

D&

4, % &

Question Number : 100 Question Id : 8135613620 Display Question Number : Yes Is Question
Mandatory : No

A bimetallic strip 1s made of aluminum and steel (@4, > @t,e;). On heating the strip will

A(S°F)8 &' b wurEidaie B NS Saird Babud e, ¢ e
56 D
Options:

remain straight
SR T &olod

get twisted
5> % 008 DO

bend with aluminum on concave side

2 % DEFs"Go D) VU0 Do

bend with steel on concave side

TS G0 D) M5 Dordd
g, TOTE CRERLE w0

Question Number : 101 Question Id : 8135613621 Display Question Number : Yes Is Question
Mandatory : No
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An engme has an efficiency of 0.25. When temperature of sink reduced by 58 °C. its efficiency

15 doubled. Temperature of the source 1s

28 0hoBn awe) &mgéan 0.25. D08 &J'dd 58 °C 30, & 5"3’253” 080
Y3008, BAGA egga

Options:
1 % 150 °C

5 u 222
3. % 242°C

4 » 2325

Question Number : 102 Question Id : 8135613622 Display Question Number : Yes Is Question
Mandatory : No

How much work 1s done by 2 moles of helium gas at constant pressure in raising the
temperature from 0 °C to 100 °C ?

20 DB 36 2 S © DAL T aws), &TG 0°C Aect 100 °C &
20t 200 DY Jodh ?

Options:
1. (200)R
2 % (100)R

5 % (300)R

4 % (500)R
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Question Number : 103 Question Id : 8135613623 Display Question Number : Yes Is Question
Mandatory : No

V (CC ) A
The heat absorbed by the system in going through the

cyclic process shown n figure 1s 200

DLANS" ErHd SSah DAL Mot NI - | .
(5% B §oucd G

>
200 400 p (kpﬂ)

Options:
1. % 304 J

5 ¢ 3147
3 % 324 ]

4 % 33417

Question Number : 104 Question Id : 8135613624 Display Question Number : Yes Is Question
Mandatory : No

300 cm? of a gas at 27 °C 1s cooled to —3 °C at constant pressure. the final volume is:

274 egga, 300 cm?® 200080 $9A® 28 Trakv) ;paoi:a.aan 36 —3°C &
SVDOBENE. &8 T050Y) S06 IVBATEAN dodh?

Options:
. % 300 cm®

5 & 270 cm®

3 % 150 em?
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4 % 135 em?

Question Number : 105 Question Id : 8135613625 Display Question Number : Yes Is Question
Mandatory : No

Which of the following properties of a wave is independent of other?

S08 795" @ BGorAL NG, VLN D(BoBLAVT ESotod?

Options:
Velocity
1. 8 FelaPubb)

Frequency
RO

Amplitude
3 o S0 DBS

Wave length
g
&S00 Qg‘s.;ﬁn)

Question Number : 106 Question Id : 8135613626 Display Question Number : Yes Is Question
Mandatory : No

For most distinct interference patterns to be observed the necessary condition is that the ratio of

mtensities of light waves from the two coherent sources should be:

DRI (888 S D6\EEPAS, Tocd Rot)h 00 250 Aol DL d3d0 A
Dod Got0?

Options:

1.« 1:1
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2. % 1:2

3. %1:3

4_3&1:4

Question Number : 107 Question Id : 8135613627 Display Question Number : Yes Is Question
Mandatory : No

Match the following?
Column I Column II
(a) 1° (1)  Pomt charge
(b) r? (1) Thin infinitely long wire of uniform linear charge density
(c) r~3 (1) Infinite uniformly charged plane sheet
(d) r™ (1v)  Electric field on the axial line of short electric dipole
S00 TN BBDGH0G?
360% - 1 3607 - 11
(a) 10 (1) Dotk HBArH JEAEDIAN
(b) 1! (i) 008 Tepd) o)A 8 dwg) V6O Sab 8d3Fodd
(c) r3 (1il) NSO DIIN oS DAIL HVS
d) 12 (iv) 28 D) Dy B0 A8, LD v DeGESW
Options:

¢ o o= b—il){c=ix).{d—i)
> » (a—ii),(b—iv),(c—1i),(d —iii)

3 » (a=il),(b—iv),(e—1),(d=ii)
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4 » (a—iv),(b—iii),(c—i),(d—ii)

Question Number : 108 Question Id : 8135613628 Display Question Number : Yes Is Question
Mandatory : No

In a region of constant potential

26 TOJoeS $HAD HB30ES'

Options:
The electric field is zero

| o DANS ZS30 BrdGAN

The electric field 1s uniform
y i :’Jm;gé ES30 56 EOIT Sotod

The electric field changes necessarily if a charge 1s placed outside the region

&5 DATAS DWDV 28 VDT &owd, Dm’sé ZHA0 A0
3, %

There can be no charge inside the region
&3 DB%0 5DV DEND0L) IDFA Gokd

4, %

Question Number : 109 Question Id : 8135613629 Display Question Number : Yes Is Question
Mandatory : No
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A dielectric slab of thickness 1.5 cm and dielectric constant 6 1s placed between the plates of a

parallel plate capacitor of plate area 0.1 m* and separation 3 cm. Change in the capacity of the

capacitor due to the introduction of the dielectric slab 1s

L5 cm oocsin $n8a ofS s Romesdn 6 e xS Bes By 0.1 m’
DTV DB 3 em GrEAD (0 VTS DSV 6 Sd| Gotrw. DS B¢
B20)R0 DD 0D SIHLE STHAS” Artyy Jod?

Options:

5 % 90.5pF
3 » 29.5pF

Question Number : 110 Question Id : 8135613630 Display Question Number : Yes Is Question
Mandatory : No

If resistance of a conductor 1s 5 () at 50 °C and 7 Q) at 100 °C. the mean temperature coefficient

of resistance of the material 1s

w8 TIPan g e 50 °C 3¢ 50 208k 100 °C 3¢ 7 0. DErgan 608
e e er AES RS Jod?

Options:
|« 0.008 /°C

, % 0.006 /°C

L % 0.004 /°C
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4 % 0.001/°C

Question Number : 111 Question Id : 8135613631 Display Question Number : Yes Is Question
Mandatory : No

Five wires having currents [y = 14. L =2A. L =3A. [, =1Aand [; =

4 A cut the page perpendicularly at points 1. 2. 3. 4 and 5. The value of line ~ ,~" “+ !
— S /
integral of B around the dotted closed path is (ie. § B dl) s i ol ®4 K

|

| 2 l

SO SIS Vo &3) 5 AVS” IS Prdfen I = 14, L ®®3 ®> )
\ /

N /!

L=2AL=3A1=1A5080 5 = 4 A HP06H) YOGS N .-

otr B cog) Sdabdsrsusin devs (ie. §B.dl)
Options:

1,% 0

5 o Mo Wh.m™

3 ® 2!.10 Wb. m-l

4 % 4o Wh.m™

Question Number : 112 Question Id : 8135613632 Display Question Number : Yes Is Question
Mandatory : No

A galvanometer of resistance 80 () 1s converted to an ammeter by a shunt resistance r, =

0.04 ). Value of 1ts resistance 1s

80 80 0 o TrexT006 {085 A 7, = 0.04 0 B ) LT AP\IAIS.
o B30 e SROF0BN?

Options:
1. % 0.02 0
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, »0.040
5 % 0.080

4 % 0.06 ()

Question Number : 113 Question Id : 8135613633 Display Question Number : Yes Is Question
Mandatory : No

; : ; : ; : : ==
A coil having an area 2 m* is placed in a magnetic field which changes from 1 Whm™ to

4 Whm % is an interval of 2 sec. The emf induced in the coil is

2m’ 7oio S90S w8 SO 2 sec © TV HHOS" 1 Wh m > &od 4Whm™* &
3578 o) 08 £SIVS” Gotrd. SIS HOSAD| VATV LVAD Jod?

Options:
1. 4V

2.v 3V
3 % 15V

4.% 2V

Question Number : 114 Question Id : 8135613634 Display Question Number : Yes Is Question
Mandatory : No
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The currents i two coils of self-mductances 5 mH and 1 mH are increasing at the same rate at
a certamn instant. The power supplied to the cols 1s also same. Then identify the false statement

among the following:

Gocy Bff et GBS, AAo ST 5 mH 0800 1 mH. IFT DSoHawe” & &
AU ?gd 0003 DS DI DAMAr THS BIIVID 3"’5"8",5‘” NATFHANTT
G37) . ©00S & $obd T VBT TEA?

Options:

The ratio of induced emf's1s5: 1
& VS oA 5:1

The ratio of current m the cotls1s 1 : 5

5 % S RS’ DS DI B 1: 5

The ratio of energy stored in the two coils at that instanti1s 1 : 5

83 DDA’ SIS TS Qe &) 0 G 1:5
3. % & o i

The ratio of energy stored in the two coils at that instant 1s 9 : 25

s P8 RBADES” B LS oD &) 30 AiNB 9 : 25

Question Number : 115 Question Id : 8135613635 Display Question Number : Yes Is Question

Mandatory : No

In an A. C. circuit. the current:

208 A.C. doaDanes’, DS DITHAW

Options:
always leads the voltage
. DT ST7) S0 EotdR
1. 8 e
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always lags behind the voltage
STE ST7) D0 GoO

1s always in phase with voltage

5 u STE 535" Goco

may lead or lags behind or be in phase with voltage
, o DB ST) A0SR, DSV Gotd

Question Number : 116 Question Id : 8135613636 Display Question Number : Yes Is Question
Mandatory : No

The amplitudes of electric and magnetic fields in a parallel beam of light of intensity

12Wm™ are . Given, permittivity of free space is 8.85 X 107*2 Fm™!.

12 Wm™ S35 $DAR w8 Darodd 5208 2)o2dnd’d (S SoBosn OO 08 £
800 DOV AT (3035 Qrd cing) 0B =8.85 X 1071 Fm™!)

Options:

:  IBNE™ & 3A7X107'T

s 9 INC & BATXIOTT

3 x 951 NC™* & 3168x107'T

4% 95 NC™' & 31.68x107"T

Question Number : 117 Question Id : 8135613637 Display Question Number : Yes Is Question
Mandatory : No
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The correct curve between the stopping potential (V,) and intensity of incident light (1) 1s:
B 658 TS (V) 0daso D8 5708 a3d () © S 0T S0
Options:

F

Vo

Question Number : 118 Question Id : 8135613638 Display Question Number : Yes Is Question
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Mandatory : No

A doubly 10mized lithium atom 1s to be excited from first to fifth Bohr orbit. The wavelength of

radiation required 1s

& ©oNg B0 Baedd Babe HEAPY) S Kol WONES &5°6 S5{6'8 &dado

WODGER. IVEM JS66 édoﬁg‘%an odh?

Options:
. 10.56 X 10 % m

1.%

, ¢ 1056 X10™° m
3 x113x10°m
4 % 113%10°m

Question Number : 119 Question Id : 8135613639 Display Question Number : Yes Is Question
Mandatory : No

The output for the given circuit 1s: A

& Swohidw awg) WHdw - B Y

Options:

2‘¥(A-B)-§
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4 u(4-B)-B

Question Number : 120 Question Id : 8135613640 Display Question Number : Yes Is Question
Mandatory : No

A transnutting system of height 20 m and the receiving antenna of height ‘h" are separated by

a distance of 40 km. for satisfactory communication mn line of sight mode. The value of *h" 1s
. Given, radius of earth 15 6400 km.

28 P08 0irolaT) g JE) 20 m S0B0I [rirs 0iroar) GIvg), J) h . €

ar :ng Nody86 ‘;au‘rbgl)é 40 km Groaned” dhHdHwe G o, o h =

Options:
1 % 40m
> 45m
3, ® 30m
4 % 25m

Chemistry
Section Id : 81356181
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:
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Question Number : 121 Question Id : 8135613641 Display Question Number : Yes Is Question
Mandatory : No

The total number of spectral lines possible when an electron relaxes from the 6™ orbit of a
hydrogen atom 15

TERS DOSTR0Y 6 I 008 DoAY VTN Frrowd B HEHS" @iy SgvLBR
0820 :ana;?g Dodh?

Options:
1. % 21

> % 10
3. % D

4.v 15

Question Number : 122 Question Id : 8135613642 Display Question Number : Yes Is Question
Mandatory : No

Which of the following graph correctly represents the variation of particle momentum (P) with
de-Broglie wavelength (1)?

do0s tronda ar Dgod’ 6 &n 63 (P) & &' 8der o734 (1) fo
RoW0EAN SV

Options:

A

P
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P

»

2, % 4
'y
A

1 >

3 % /P
A
A

l >

4. /p

Question Number : 123 Question Id : 8135613643 Display Question Number : Yes Is Question
Mandatory : No

A metal is irradiated with a radiation of wavelength 360 A. If the minimum energy required to

eject the electron from a metal is 5.5 X 107" I, then the maximum kinetic energy of electrons
gjected from the metal is approximately

w8 6"y 360 A acoﬁgg%m: 0 DEGETAS HBBANIT, S Aol VT W

DUDERD. 8 EIPAW ol VTS ) DL SHVD 0 3§ 55X 107
9008 DLVIER NI (133 g Q0 odh?

Options:

; % 50x107%7J
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5 u LSRN0

4 # BRI

4% 5%x10777

Question Number : 124 Question Id : 8135613644 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct mereasing order of atomic radi corresponding to the elements Ca, Sr, Cl, S.

Ca,Sr,Cl 208050 S ©&° T8 HEATER asﬁgu 3B re S0

Options:
1 #Cl <SS <Cac<Sr

o8 Ca<Sr<(Cl<sS
3 8 Sr < Ca<S$§ <C(l

485 <Cl <Ca<Sr

Question Number : 125 Question Id : 8135613645 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): Be and Mg have low negative electron gain enthalpy.

Reason(R): They have fully filled ‘s’ orbitals and hence no tendency to accept an electron,

D3\850(4): Be $0Bao Mg e 85,3 200 Qs I Joardyen $9 Gocor
S60(R): QPO Dok e8Py 59 €t ) JUTN & farotd 8L $OA God.

Options:

1.%
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Both A and R are true and R 1s a correct explanation for A
A 2508030 R Godior 28D, 08030 R 938 A S 283D DHGer

Both A and R are true but R 1s not a correct explanation for A
. A 308030 R Sodir 2800, S*O R 038 A & HBaHS D6 S°E

A 1s true. R 1s false
A 280308, 5°0 R 28 570

A 1s false. R 1s true

, o ARBT®, 50 R H8gHAE

Question Number : 126 Question Id : 8135613646 Display Question Number : Yes Is Question
Mandatory : No

Assertion(A): Magnesium has lower first ionization enthalpy than Aluminium.
Reason(R): Magnestum 1s larger i size compared to Aluminium,

AR BA0(A): er(odabo Soff 2off) oo Y, G e05E6E o)nt;‘bb 3% .
s*8e(R): aw;gbaz)oi)u D0ATED DOATE0 Sobd mﬁlbojna DOAreD DB bgﬁ.

Options:
Both A and R are true and R 1s a correct explanation for A

. % A 0Baiw R Boctr ROADAD. 0B R 93 A S 2BADD DHGe

Both A and R are true but R 1s not a correct explanation for A

, A 208030 R ot 26g303D, 57O R 0936 A § 26q300 Do s

A 1s true. R 1s false
. A PBaLAB, 570 R 08 57

A 1s false. R 1s true

, o ARBET®, 5° R 08308
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Question Number : 127 Question Id : 8135613647 Display Question Number : Yes Is Question
Mandatory : No

The number of lone pairs of electrons on the central atom of PCl; 1s

PCl; e J07)£208" Sog DOJTEDH (10 20id VTS 20V Vo[ Jod?

Options:
1.% 0

2.% 3

3.v 1

Question Number : 128 Question Id : 8135613648 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species contains equal number of ¢ and 7 bonds?
$08 ©rRYVS” 0 JBAN T WLFY Vo) VIS SOH &) B IB?

Options:
1, % 130

3. % (COCUZ

4 % H2S0,
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Question Number : 129 Question Id : 8135613649 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct among the following:

(1) Bond angle of NH, is greater than that of NF,.
(1) Bond angle of PF, is less than that of PH .
(i11) Bond angles of NH,. NF,. PH,. PF, are all equal

(1v) Bond angles of NH,; and PH, are equal

So& T°¢3¢5° DBPDLA DIBT Y HGoridA:
() NH, 0068 e0a0 NF, 00686080 Sotf J8) o
(i) PF, ©06880d0 PH, 006860 Sof 885
(ili) NH,. NF,.PH,. PF, @0 ©) J35% w0o@StTen Sod
(iv) NH,. PH, &0 23073 0068 tred S0

Options:

(i) only
., (1) oeghed

(ii) only
5 % (ii) sSorgdado

(iii) only
3 % (iii) Soeegdad

(iv) only

4w (iv) 2580

Question Number : 130 Question Id : 8135613650 Display Question Number : Yes Is Question
Mandatory : No
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Using the following data, identify the correct order of liquefaction of gases NH,. HCL. C0, and S0,.
Sobd BEroTR) &DAfow) B0 TAVPY G680 Dol R(Erdo 0E) DBV S0

(Mg, =649 T,(S0,)=430K
[ Mgo, =449 T,(CO,) =304K]|
[ My =365¢g T, (HCl)=325K
[ Myg, =179 T, (NH;) = 405K |

Options:
. % CO; > HCl > NH3 > SO,

, ¢ S0, > NHy > HCl > CO,

3 % 502 > CO; > HCl > NH;

4 ﬁNH;; = Ll > C02 > SOZ

Question Number : 131 Question Id : 8135613651 Display Question Number : Yes Is Question
Mandatory : No

At what temperature, the rate of effusion N, would be twice the rate of S0, at 50 °C ?

50 °C 96 S0, T8 AyGtso Bod Bwsd B S D &' ¢ N, oY
D0 6e30 B0’

Options:
1 @ 292.25°C

, % 565.25 °C
3 % 87.5°C

4. & iR &
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Question Number : 132 Question Id : 8135613652 Display Question Number : Yes Is Question
Mandatory : No

Find the amount of K,Cr, 0, needed to oxidise 15.2 g FeS0, n acidic medium,

(Given molecular weight of K,Cr,0, = 294 g: molecular weight of FeS0, = 152 g)

e QIrdSS’ 15.2 g FeS0, 2 68 80ors s303 K, (1,0, 6w (rawed’)
d08? (KCr;0; e 3303 294 g, FeS0, e 35(0°3 152 q)

Options:
1 % 245 g

Question Number : 133 Question Id : 8135613653 Display Question Number : Yes Is Question
Mandatory : No

The Vapor density of a mixture of NO, and N, 0, is 38.3 at 26.7°. Calculate the number of

moles of NO, in 100g of the mixture

26.7% 36 N0, 28050 N,0, a3 &y Jrodd 38.3. 100g D3dnawe’ NO,
5 )

QTR ":0*:&35

Options:

5 % 0.537
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3 % 0.347

4 % 0.490

Question Number : 134 Question Id : 8135613654 Display Question Number : Yes Is Question
Mandatory : No

The enthalpy of neutralization of oxalic acid by a strong base 15 —25.4 kcal. mol " while the

enthalpy of neutralization of a strong acid and the strong base is —13.7 kcal. equiv™". Then find

o ¥ 5 . & + F b
the enthalpy of dissoctation of H, C, 0, = 2H" + C,0, .

8 LORXD T8 BLS0N B6[S" errdes St dorrdy Dewsd ~25.4 keal.mol ™,
03 LURR 608 1S LV BATY) BLVSCR D B[ S SVEEH Doty Dews

: , . 1 nkE 2-
~137 keal.equiv". wawd. H, C, 0, 2 2H" + (0, t0{% Datrad Joa-dy

Options:

1 %1 keal.mol™

5> & 2 kecal.mol™?

3 % 3.5 kcal.mol™

4 % 5.2 kcal.mol™*

Question Number : 135 Question Id : 8135613655 Display Question Number : Yes Is Question
Mandatory : No

Consider a reversible reaction Ny(g) + 3Hy(g) = 2NHj(4) . K¢ and Kp are related as

Ny(g) + 3Hp(g) = 2NHy(g) 3 &0 aqses" K¢ 08050 Kp © 2065 Roeiodhdn

Options:
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2 8 Kp = K¢ (RT)
3. % Kp = K¢ (RT)?

4 v Kp = K¢ (RT)™?

Question Number : 136 Question Id : 8135613656 Display Question Number : Yes Is Question
Mandatory : No

The gas A, in the left flask 1s allowed to react with gas B, present in right flask as
Ay(g) t+ By(g) = 24Bg) ;if K. = 4. at 27 °C, What is the concentration of AB when

equilibrium 1s established?

4 moles
B,
3 litres, 27°C

2 moles
A,
1 litre, 27°C

e IS R A, T8, B FIS W) B, To0DS $od 56 D560 6§
ToBdNB. Ay(g) + Byg) = 24B(y) ;
27°C 36 K, Deid 4 wawd 2T 20 3¢ AB mEd dod?

Options:
1. ® 133 M

, % 2.66 M
5 v 0.66 M

4 % 033M

[ ]
gcollegedumas
India’s largest Student Review Platform

el



Question Number : 137 Question Id : 8135613657 Display Question Number : Yes Is Question

Mandatory : No

The P of a solution of H,0, is 6.0. When Cl, gas is bubbled through this solution, which of
the following 1s correct?

Hy0, &6 P Dend 6.0 . Cly Taho0 Hy0; Brdesin GriTe Dodm)yw ¢

Graean PP Jend . 408 DISTVS’ DB HBIG?

Options:

The P¥ of resultant solution becomes 8.0
20 Troea P7 Densd 8.0 eoHcood

H, gas 1s liberated from resultant solution

, 5 P08 Trdean Aot Hy S7aing D e

The P¥ of the resultant solution becomes less than 6.0 & 0, gas is liberated

3.

Cl,0 1s formed 1s the resultant solution
. D0 roeatne” 1,0 6o

20 Trdea PP Dewsd 6.0 ST°) B8, oW 0; TOINY) DGO MDD

Question Number : 138 Question Id : 8135613658 Display Question Number : Yes Is Question

Mandatory : No

Which of the following 1s arranged in increasing order of solubilities?

308 Sarod’ DO TroobdL BB SIS’ &) B?

Options:
., CaCO3 < KHCO3; < NaHCO;

e”
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, « NaHCO; < KHCO3 < CaC0s

, » KHCO3 < NaHCO; < CaCO;

4 » €aC03 < NaHCO; < KHCOs

Question Number : 139 Question Id : 8135613659 Display Question Number : Yes Is Question
Mandatory : No

Which among the following 1s a suitable reducing agent for the synthesis of diborane from

boron trifluoride?

AT o’ B0 BIDEM Sabsdte Bt S gassd

Options:
1 % Pd|Cand H,

> » PdCl,
3 % SnCly

, o LiAlH,

Question Number : 140 Question Id : 8135613660 Display Question Number : Yes Is Question
Mandatory : No

Which among the following is the strongest oxidizing agent?

208 DETVS" DB WOD 3\S6d?

Options:

1. % 51102
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, x Si0;

% GEOZ

Question Number : 141 Question Id : 8135613661 Display Question Number : Yes Is Question
Mandatory : No

The uritant red haze 1n the traffic and congested places 1s due to

grads SAododw csg DETVS" 530y Dot LBOK Sotd DAY TG

Options:

, % SO3+S0;

, » NO+NO,

4 w CHi+CO

Question Number : 142 Question Id : 8135613662 Display Question Number : Yes Is Question
Mandatory : No

Identify the structure of the compound whose [UPAC name is:

*3 — Ethyl — 2 — hydroxy — 4 — methyl hex — 3 — en — 5 — ynoic acid ”

“3- &5 - 2 - Edy - 4 - DRSPSy - 3 - &S — 5 — 2Ians sdve " d IUPAC
800 (10 R FIA CS), 8B HBoA:

Options:
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OH

\

COOH

4

OH

COOH

é_\i\_

OH
COOH

/S \;\

OH

COOH

o

4.9

Question Number : 143 Question Id : 8135613663 Display Question Number : Yes Is Question
Mandatory : No
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Match the following

Column -I Column II
a) CONH, 1) Formyl group
b) CHO 1) Amide group
¢) COOR 1) Alkylalkanoate
d X 1v) Halo group

S0 T RSADGHC

Column -I Column II
a) CONH, i) TS dadrTraw
b) CHO i) D& DAL
c) COOR i) €595 ese) S
d) X iv) 5%e5° DA

Options:
¢ @=ii), (b - i), (c—iii), (d - iv)

, x @@= i), (b~ iii), (c > i),(d - iv)
5 & (@—ii), (b iv),(c—iii),(d > 1)

4% (a—1),(b=ii),(c—iii), (d = iv)

Question Number : 144 Question Id : 8135613664 Display Question Number : Yes Is Question
Mandatory : No

The most unlikely representation of resonance structure of p-mtro phenoxide 1s

Io A’ OTB\E g, BEID Ardd’ 0d 85y I drowds

Options:

1. %
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Question Number : 145 Question Id : 8135613665 Display Question Number : Yes Is Question
Mandatory : No
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Which among the following cannot exhibit tautomerism?

$08 DI YOS DB/ €75 B0 DEB 0D ?

0

90
i) (ii) \/\(!}/

(iii) QDH (iv) @—CHE—NO;

Options:

(1) only
1% (11) SI°gHad

(111) only
5 o (111) S0P

(ii) & (iv)
5 % (i) 20808 (iv)

(iii) & (iv)
4% (111) <0803 (1v)

Question Number : 146 Question Id : 8135613666 Display Question Number : Yes Is Question
Mandatory : No

An example for a super-cooled liquid is

0 3D 378 emiroe

Options:
Organic fibers

€6, 230 o 'rioen
%9
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Glass
> e

Wood

Plastics
38

Question Number : 147 Question Id : 8135613667 Display Question Number : Yes Is Question
Mandatory : No

When 2 g of a non-electrolyte solute 1s dissolved i 50 g of benzene lowers the freezing point

of benzene by 0.4 K. The freezing point depression constant of benzene is 5.12 K. kg.mol™*.

The molar mass of the solute. in g.mol ™. is

50 0 8020 & 2 g ODE(BFREN BABYYE BoBD & 20ABSD ga A%y & 0.4K.
B0 & DB g“sb A &° ?gu“os;m 203 5.12 K.kg.mol™ eoond vbm5&5§:15
TS O ___ g.mol ™,

Options:

1« 512 g.mol™

, % 252 g.mol™?!

3 % 260 g.mol™*

4 % 544 g.mol™!
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Mandatory : No

How many grams of glucose (Mol.wt — 180u) should be dissolved in 100g water in order to produce a

solution with 105.0°C difference between the freezing point and botling point? [Kr for water =
186°C/m; K, =051°C/m]

0N L 0 s 86 105.0°T T oot 100g A6 IR ritwe frES
(eoea02m8:3— 180u) % 88R0d) rdeadn dasrd> Sodrd? [K, A8 = 186°C/m; K, = 051° C/m]|

Options:
1 % 18 g

3. % 369

4.% 769

Question Number : 149 Question Id : 8135613669 Display Question Number : Yes Is Question
Mandatory : No

The half-life of a substance in a certain enzyme catalyzed reaction 1s 138 Seconds. The time
required for the concentration of the substance to fall from 1.28 mgL™ to 0.04 mgL™ is

25 o &30S rﬁd5eﬁ‘ w8 DGR GIVS]; OTANLY 138 dsw. & DTG TEd
1.28 mgL™" Qo) 0.04 mgL™" Sresd 580 DA

Options:
414 Seconds

| w 414 DSRoew

552 Seconds
> % 552 s
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690 Seconds
2 v 690 PSR

276 Seconds

4 % 276 DS00

Question Number : 150 Question Id : 8135613670 Display Question Number : Yes Is Question

Mandatory : No

Smoke precipitator works on the principle of

T 9DEDSEEI D B DTG

Options:
Centrifugation
9508 S6EAD

Neutralization by charge on colloids

Sgrond sero edT) SISOt
2.

Absorption
BT e

Addition of electrolytes
- DEB(FNSO DoSVDID

Question Number : 151 Question Id : 8135613671 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Helium 15 used as a diluent for oxygen in modem diving apparatus
Reason (R): Helium 15 a non-inflammable and light gas

D338 (A): irdabosy 8 Eoh HBSTY’ ed\aS g, IDISBT GHCTAYE
s (R): erBao T7003) 895 L wBosw 6P s (od Jab M) 98

Options:

A and R are correct and R 1s the correct explanation for A

1 % A 5008030 R 28 2900500 L0803 R, A SO D0 90300 DD

A and R are correct but R 1s not the correct explanation for A

> & A 2080350 R 28 0003 570 R, A £ 98 e0aind D6 S0

A 1s correct, R 1s wrong

3 % A D0 oG, R D0 000 570

A 1s wrong. R 1s correct
4 % A D0 oIS 57, R D0 20008

Question Number : 152 Question Id : 8135613672 Display Question Number : Yes Is Question
Mandatory : No

Consider the following reactions. Here, hydrochloric acid 1s prepared by heating X with

another reactant. Find X.

_ 420K
(1] X + H2504 — N{THSO4 + HCI

823K
(if) NaHSO, + X —— Na,S0, + HC

& B Aredd 6[RE” X L S8 dairadsed SABD PEEESE o SArEEIE.

vﬁﬂswé‘X
_ 420K
(1) X + H2504 S— NGHSO4 + HCI
823 K

(ii) NaHSO, + X —— Na,S0, + HC
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Options:

. x NH,C

2. NaCl

5 » NH,OH

4 » NH;Na

Question Number : 153 Question Id : 8135613673 Display Question Number : Yes Is Question
Mandatory : No

How many S = 0" groups are present in a H,S,0g molecule?

H,S5,0g 9£20:9)e5° e.x;l “S =07 o QDA‘?
Options:

1.*5“2

2. % 1

4.v4%

Question Number : 154 Question Id : 8135613674 Display Question Number : Yes Is Question
Mandatory : No
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The number of moles of silver chloride precipitated per mole of PdCl, - 4 NH; and PtCl, -
2 NH; with excess of AgN 0. respectively are

1 3-8 PdCl, - 4 NH; So8abo 1 3% PtCl, - 2 NHy wdsawm &) AgN0; § Sdddor
6§ JoBRY\E A6\ AgCl e o) HERIT

Options:
1 % 2 & 2

s x1&0

1v2&0

Question Number : 155 Question Id : 8135613675 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has the highest number of unpaired d-electrons?
308 T°3e5° AS :ua:se‘i‘ 2A2ED (2008) d-dUFTS (L VOIS 08?

Options:

i FE’2+

, % Zn”

3 % Cu’

4 % Nit
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Question Number : 156 Question Id : 8135613676 Display Question Number : Yes Is Question
Mandatory : No

The secondary structure of a protein refers to

TES aig), Db o)L

Options:
Fixed configuration of polypeptide backbone

> Hn& DY) DG Dms‘:bnn
\ 2 o~

1%

a- helical backbone of polypeptide

> Hn& DAY @- APIEEG D3O DBYVE
2. ¢ < ®

Hydrophobic interactions
EIDE evotds SO

Sequence of a- amino acids
- QS ATV S0

Question Number : 157 Question Id : 8135613677 Display Question Number : Yes Is Question
Mandatory : No

The following reaction is an example for a/an

Sod VO[S &L

OCH, OCH,

NaNH, Wiz

Br

Options:

1. %
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Chaimn-substitution reaction

)00 — DAZDEI WO

Elimination-addition reaction

DO DD — DotOS eSSy
2. ¢

Substitution-elimination reaction

. i 006 — DS w6y

Addition-elimination reaction
- NoEOD — DB DD eSSy

4. %

Question Number : 158 Question Id : 8135613678 Display Question Number : Yes Is Question
Mandatory : No

Phenol 15 heated with CHCl; and alcoholic KOH to form Salicilaldehyde. This reaction 1s
known as

DTSR ETF & w50 508 KOH dogod 96§ 203 FOrYré A6y, & 06

Options:

Friedel-Crafts reaction
| % DES-5°D 36§

Rosenmund reaction

) 4 B Bwok e

Reimer-Tiemann reaction
Ce6-3e00 t‘.ﬁd5
3‘ 'J - . [ - -
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Perkin’s reaction

:36355 csd5

Question Number : 159 Question Id : 8135613679 Display Question Number : Yes Is Question

Mandatory :

No

Match the following?

Column -1

Column - 11

—

. Hy/Pd — BaS0,

HVZ reaction

. NH, — NH,/
ethylene glycol — KOH

11.

Etard reaction

f_“_J

; REd Pifl-/XE

1.

Wolff-Kishner reduction

4. Cr0,CL,/CS, iv. Rosenmund’s reduction
S0 T°A »AWALEAW?
So -1 Sod-1I
1. H,/Pd — BaSO0, L. HVZ 56
2. NH, - NH,/ i, 9P w5y
ethylene glycol — KOH
3. Red P,/X, li. &&5y 4336 $0DSGRAW

4

. 61*02612/652

v,

GO Aok 5035680

Options:

1 % (1—=iv),(2 —iii),(3—=1ii),4 —=1)

, % @ =ii), (2 = iv), (3 = iii), (4 — 1)

3 x (1—iD),(2 - 1),(3 ~ iv), (4 - iii)

2 1=1V), (2 —iii), (3 - i), (4 - ii)
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Question Number : 160 Question Id : 8135613680 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction. (PCC: Pyridenium Chloro Chromate)

& 308 BO[E° D6YE &By¥) 0 DA? (PCC: HBADo ET §ut)

OH
PCC > 9

Options:

T
1.8

CH3_ CHZ— CHz— CHZ_CHZ_ CHO

2.

Og
3.v

OO
4, %
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